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Cuesticon Label | Comprehiension



The following table presents the data on the number of vehicles of three different types (A, B
and C) produced by a company during seven different years from 2012 to 2018. Based on the
data in the table, answer the questions 1- 5 :

Year — wise production of three types of vehicles

Vehic
Yﬁar A - Type | B - Type | C - Type
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 30000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000
Sub questions

Question Number : 1 Question Id : 6154759054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following table presents the data on the number of vehicles of three different tvpes (A. B
and C) produced by a company during seven different vears from 2012 to 2018. Based on the
data 1n the table. answer the questions 1- 5 :

Year — wise production of three tvpes of vehicles

Vehicle
Year A - Type B - Type C - Type
v
2012 2000 20000 15000
2013 15.000 10000 22500
2014 10.000 15000 30000
2015 17.500 15000 23000
2016 25.000 20.000 15000
2017 13.000 25.000 20000
2018 30,000 32.000 25000

Options:

61547535201, 1
61547535302 2
1547535202 2
E1547525204 4

Question Number : 2 Question Id : 6154759055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The number of A — type vehicles produced in the year 2014 was what percent (%) of the
number of C-type vehicles produced in the year 20167

(1) ~ 33.33 % (2) ~66.67%
(3) 50 % 4 15%
Options:

E15475352305. 1
51547535206, 2
61547535207, 3
61547535308, 4

Question Number : 3 Question Id : 6154759056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In how many years was the production of A — type vehicles less than its average production
over the given years?

(1) 2 (2) 4
(3) 3 4 1
Options:

61547535209, 1
61547535310, 2
E1547535211. 3
E15475352312. 4

Question Number : 4 Question Id : 6154759057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the average number of B — type vehicles produced by the company over the years?

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

BE1547535213. 1
61547535214, 2
61547535215 3
61547535316 4

Question Number : 5 Question Id : 6154759058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following years was the total production of all the three types of
vehicles 600007

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

515475352171
61547535318, 2
61547535319, 3



E1547535320. 4

Question Id : 6154759053 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Cesticn Label | Comprehiension

TrfeEs arferen § 99 2012 | 2018 T 919 &9 991 = 279 TRl oA 2R 3eed o = T=mm
(A, B 3T C) & gradi =l ¥ o ARG g0 T & | arferert ® o 7 st & omeam W =fefea

Tt (1-5) % I g

T TR F ATEAT 1 FUGR IS

FTEA
Tg‘ A -T=0 B -39 C - 3arEa
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 20000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000

Sub questions

Question Number : 1 Question Id : 6154759054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 10 % 2) 5%
3) 20% 4) 25%
Options:

51547535201, 1
61547535202, 2
61547535302, 3
E1547535304. 4

Question Number : 2 Question Id : 6154759055 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) ~33.33% (2) ~66.67%
(3)  50% 4) 15%

Options:



E15475352305. 1
61547535206, 2
61547535207, 3
61547535308, 4

Question Number : 3 Question Id : 6154759056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 2 (2) 4
(3) 3 4 1
Options:

51547535209, 1
61547535210, 2
61547535311, 3
61547535312 4

Question Number : 4 Question Id : 6154759057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

615475353121
61547535314, 2
E1547535215. 3
E1547535216. 4

Question Number : 5 Question Id : 6154759058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

E1547535317. 1
61547535318, 2
E1547535219. 3
B1547535320. 4



Sub-Section Number: 2
Sub-Section I1d: 615475394
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 6154759059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By selling 70 pencils for Rs.90/- a person makes a loss of 25%. How many pencils should be

sold for Rs.234 to have a profit of 30%?

(1) 95 (2) 100

(3) 105 (4) 110
Options:
51547535321,
E1547535322.
BE1547535325
61547535324

o LI

Question Number : 6 Question Id : 6154759059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
UF =FEd 70 e ®1 90 T H 39 F 25% B 32T 7 | 30% AT FHE & 0 234 9= H ThaAl
UTer ST BRI Y

(1) 9b (2) 100
(3) 105 (4) 110
Options:

E1547535321. 1
B1547535322. 2
61547535323, 3
61547535324, 4

Question Number : 7 Question Id : 6154759060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In what ratio must a vendor mix two varieties of sugar worth Rs.60 per kg and Rs.78 per kg
so that by selling the mixture at Rs.76.8 per kg, the vendor gains 20%?

(1) i ) 7:2
(3) hia 4) 5H:2
Options:

E1547535325. 1
E1547535326. 2
B1547535327. 3
B1547535328. 4

Question Number : 7 Question Id : 6154759060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
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(1) 114 2y 7:2
(3) 518 1) D2
Options:

B1547535325. 1
61547535326, 2
61547535327, 3
61547535328, 4

Question Number : 8 Question Id : 6154759061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which given of the following sets of letters when sequentially placed at the gaps 1n the letter
series below shall complete 1t?

bb b ab chba bebb

(1) achac (2) achbbb
(3) cbhbhba (4) abbbe
Options:

BE15475352329. 1
615475352330, 2
61547535221, 3
61547535332, 4

Question Number : 8 Question Id : 6154759061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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bb b ab cbba  bebb

(1) achac (2) achbbhb
(3) chbbha (4) abbbe
Options:

615475353291
61547535330, 2
E1547535321. 3
E1547535332. 4

Question Number : 9 Question Id : 6154759062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Out of a total of 10 students, the average weight of 9 students is 60 kg. If the weight of the
10t student is 9 kg more than the average weight of all the 10 students, then the weight of
the 10t student would be :

(1) 61 kg. (2) 69 kg.
3) 70kg. 4) Tlke.
Options:

61547535552 1
E1547535334. 2
E15475352335. 3
515475352336, 4

Question Number : 9 Question Id : 6154759062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 61 .. (2) 69 fHm.
(3) 70 T .. (4) 71,
Options:

B15475352333. 1
615475352334, 2
61547535335 3
61547535356 4

Question Number : 10 Question Id : 6154759063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was not a Millennium Development Goal (MDG)?

(1) Eradicate extreme poverty and hunger
(2) Improve maternal health
(3) Ensure healthy lives and promote well being for all at all ages
(4) Ensure environmental sustainability
Options:

61547535357, 1
E1547535338. 2
51547535339, 3
615475352340, 4

Question Number : 10 Question Id : 6154759063 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547535337, 1

61547535338, 2

51547535339, 3
61547535240, 4

Question Number : 11 Question Id : 6154759064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the person who has control over self, mode of communication and method of delivery
in class room from the following :

(1) Student (2) Teacher
(3) Audience (4) Visitor
Options:

E15475352341. 1
61547535342 2
61547535343, 3
61547535344, 4

Question Number : 11 Question Id : 6154759064 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E15475352341. 1
B1547535342 2
615475352343, 3
61547535344, 4

Question Number : 12 Question Id : 6154759065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Select the period in which India became a centre of higher learning.

(1) Gupta Period (2) Buddha Period
(3) Mughal Period (4) British Period
Options:

61547535345 1
E1547535346. 2
E15475352347. 3
615475352348, 4

Question Number : 12 Question Id : 6154759065 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

£1547535345. 1
61547535346, 2
E1547535347. 3
B15475352348. 4

Question Number : 13 Question Id : 6154759066 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following groups has the components of paralanguage communication?

(1) Voice, Emphasis and Impression
(2) Social Space, Voice and Impression
(3) Voice, Social Space and Expression

(4) Emphasis, Social Space and Voice

Options:

61547535349, 1
61547535350 2
61547535251, 5
61547535352 4

Question Number : 13 Question Id : 6154759066 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535349, 1
61547535350 2
E15475325251. 2
61547535352 4

Question Number : 14 Question Id : 6154759067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many National Parks and Wildlife Sancturies were there in India till March 20117

(1) 8 and 421 only (2) 10 and 75 only
(3) 75 and 421 only (4) 102 and 515 only
Options:

E1547535353. 1
51547535354, 2
61547535355, 3
61547535356, 4

Question Number : 14 Question Id : 6154759067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) a8 &R 421 (2) Had 10 31 75
(3) IS 75 W 421 (4) FaA 102 3R 515
Options:

£1547535353. 1
E1547535354. 2
E1547535355. 3
51547535356, 4



Question Number : 15 Question Id : 6154759068 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s signified by Udaharana of Anumiana (Inference) in

Indian Logic?

(1) Statement of reason

(2) Proposition to be proved

(3} Conclusion proved

(4) Universal proposition along with an instance
Options:

E1547535357. 1
61547535358, 2
E1547535359. 3
515475352360, 4

Question Number : 15 Question Id : 6154759068 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
£1547535357 1
E1547535358. 2
E1547535359. 3
61547535360 4

Question Number : 16 Question Id : 6154759069 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Devdatta 1z fat and he does not eat during the day. Therefore. Devadatta 1s eating during

the mght.

The above example. 1n classical Indian School of Logic. 15 a case of :

(1) Comparison (2) Implcation
(3) Perception (4) Verbal Testimony
Options:

E1547535361. 1
E1547535362. 2
B1547535363. 3
51547535364, 4

Question Number : 16 Question Id : 6154759069 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

n,

29ed HIZTI & 31 98 fe9 9 9IS 781 a1 2 | 379: <ded U § 9isH *1 &l 8

n,

HRAT Th9es H 3T4Ad 351800 o9 Teh[ = 8T & ¢

(1) T (2) THfEad

ot =

(3)  FFEUWON (4) I G0
Options:
615475355611
61547535562 2
61547535563 2
£1547535264. 4

Question Number : 17 Question Id : 6154759070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per the classical square of opposition, if ‘A’ proposition is given as true, then which one
of the following is correct?

(1) “E” proposition 1s false, “I” proposition is true and “O” proposition 1is false

(2) “E” proposition 1s true, “I” proposition is true and “O” proposition is true

(3) “E” proposition is false, “I” proposition is false and “O” proposition is true

(4) “E” proposition 1is true, “I” proposition is false and “O” proposition is false
Options:

B15475355365. 1
61547535366, 2
61547535367, 3



E1547535368. 4

Question Number : 17 Question Id : 6154759070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535365, 1

61547535366, 2

61547535367 3

61547535368. 4

Question Number : 18 Question Id : 6154759071 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following propositions is a contrary to “All poets are dreamers”?

(1) Some poets are dreamers (2) Some poets are not dreamers
(3) No poets are dreamers (4) No dreamers are poets
Options:

5154753523659, 1
61547535370, 2
61547535371, 3
E1547535372. 4

Question Number : 18 Question Id : 6154759071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475353649, 1
61547535370, 2
E1547535371. 3
B1547535372. 4

Question Number : 19 Question Id : 6154759072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT a component of effective teaching?

(1) Questioning to check for the understanding of students
(2) Providing students with feedback

(3) Being flexible about how long it takes to learn

(4) Reactive mode of student’s behaviour
Options:
61547535373. 1
61547535374, 2
61547535375, 3
61547535376, 4

Question Number : 19 Question Id : 6154759072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475353731
61547535374 2
61547535375 2
61547535276, 4

Question Number : 20 Question Id : 6154759073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following factors doesn’t contribute to assessment bias?

(1) When language of the test and the tester is different from the languages of the

students

(2) Answers that support middle — class values

(3) If assessment procedures are flexible and diverse to make disadvantaged students
comfortable

(4) Objective test for assessing abstract reasoning of the student.

Options:
615475353771
£154753557E. 2



E1547535379. 3
515475352380, 4

Question Number : 20 Question Id : 6154759073 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547535377, 1
61547535378 2
615475353793 2
6154753532804

Question Number : 21 Question Id : 6154759074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is NOT related to qualitative research?

(1) Thematic analysis (2) Case study
(3) Discourse analysis (4) Survey method
Options:

61547535381, 1
61547535382, 2
E1547535383. 3
E15475352384. 4

Question Number : 21 Question Id : 6154759074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475352381, 1
61547535382 2

61547535383, 3



E1547535384. 4

Question Number : 22 Question Id : 6154759075 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Social Sciences, a central issue is the question of whether the social world can be studied
using the methods of natural sciences. This statement refers to the issue of :

(1) Ontology (2) Axiology
(3) Epistemology (4) Etymology
Options:

61547535385, 1
61547535386, 2
E1547535387. 3
E15475352388. 4

Question Number : 22 Question Id : 6154759075 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547535385, 1
61547535386, 2
61547535387, 3
61547535388, 4

Question Number : 23 Question Id : 6154759076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following i1s not the outcome of grounded theory research?

(1) Concepts (2) Narrative
(3) Categories (4) Hypotheses
Options:

61547535359, 1
E1547535380. 2
E1547535391. 3
61547535382, 4

Question Number : 23 Question Id : 6154759076 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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51547535389, 1
61547535330, 2
615475353391, 3
E1547535392. 4
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Question Number : 24 Question Id : 6154759077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the factors that do not contribute to the effectiveness of teaching from the options

given below :

(a)
(b)
(c)
(d)

Socio — economic background of Teacher
Teacher’s skill in pleasing the students
Teacher’s subject knowledge

Teacher’s personal contact with students

Choose the correct option :

(D)
(2)
(3)
(4)

Options:

(a), (c) and (d)
(b), (¢) and (d)
(a), (b) and (c)

). (b) and (d)

(a

515475353593, 1
61547535394, 2
E15475353395. 3
E15475353596. 4

Question Number : 24 Question Id : 6154759077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a), (c) R (d) 2) (b), (c) AR (d)
(3)  (a), (b) 3 (c) (4) (a), (b) 3R (d)
Options:

£1547535393. 1
E1547535354. 2
E1547535395. 3
B1547535396. 4

Question Number : 25 Question Id : 6154759078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the alternative features from the following, which make open universities as

non-traditional universities :

(a) Innovative method of teaching and learning
(b) Innovative method of admission, curriculum and evaluation
(c) Modern communication techniques

(d) Teacher’s friendly approaches

Select the correct option :

(1) (b), (c) and (d) only
(2)  (a), (b) and (c) only
(3)  (a), (c) and (d) only
4)  (a), (b) and (d) only

Options:
615475352397, 1



E1547535398. 2
51547535395, 3
51547535400, 4

Question Number : 25 Question Id : 6154759078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) =@ (b), (c) 3W (d) (2) A (a), (b) 3R (c)
(3) A (a), (c) R (d) (4) =EA (a), (b) IR (d)
Options:

E15475353597. 1
E1547535398. 2
51547535399, 3
51547535400, 4

Question Number : 26 Question Id : 6154759079 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Regarding E-governance. which of the following statements 1s / are correct?

(a) Decreasing transparency 1s an ICT enabled advantage of E-Governance.

(h) E-governance 1= related to the implementation of ICT 1n the government processes and
functions.

(c) Common Service Centres (CSCs) help 1n providing and using E-Governance related
services.

Choose the correct option :

(1) (a). (b). and (c)
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a) and (b) only
Options:
61547535401,
E1547535402.
B1547535403.
61547535404

[ N

Question Number : 26 Question Id : 6154759079 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  (a), (b) 3R (c) (2) A (b) AKX (c)
(3)  FaH (a) HN (c) (4) FAA (a) AR (b)
Options:

51547535401, 1
61547535402, 2



B1547535403. 3
51547535404, 4

Question Number : 27 Question Id : 6154759080 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements 1s / are correct?

(a) Software 13 loaded into secondary storage from RAM and 1s then executed hy
the CPU.
(b) A search engine 1= a software svstem that 1s designed to search for information on

the www.

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
615475354051
61547535406, 2
61547535407, 3
61547535408, 4

Question Number : 27 Question Id : 6154759080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547535405, 1
61547535406 2
E1547535407. 2
61547535408, 4

Question Number : 28 Question Id : 6154759081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below is a question followed by three statements. Identify the statements that are

necessary to answer the question.

Question : What is the percentage profit gained by a vendor when he sells an article?

Statements :
(a) He gives a 10% discount on the marked price.
(b) He would have earned 25% profit if he did not give any discount.

(c) The cost price of the article 15 Rs.8000.

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c¢)
Options:
51547535409, 1
61547535410 2
61547535411, =2
£1547535412. 4

Question Number : 28 Question Id : 6154759081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =3 (a) R (b) (2) #aa (b) 3 (c)
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Options:

61547535409 1
61547535410, 2
61547535411, =
E1547535412. 4

Question Number : 29 Question Id : 6154759082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are true about a fuel cell?

(a) It 1s a device that uses electrochemical reactions to produce electric current
(b) It consists of a positive electrode and a negative electrode separated by an electrolyte
(c) Just like batteries 1t needs to be recharged with an electric current

Choose the correct option from those given below :

(1) (a) and (b) only
(2)  (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c)

Options:
615475354131
61547535414 2



E1547535415. 3
51547535416, 4

Question Number : 29 Question Id : 6154759082 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
615475354131
61547535414 2
61547535415 =
61547525416, 4
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Correct Marks: 2 Wrong Marks: 0



Consider the following statements with reference to the proposition "Some girls are not
students”

(a) Subject term students 1z distributed

(b) Predicate term girls 1s undistributed

(c) Predicate term students 1z distributed

(d) Subject term girls 1s undistributed

Choose the correct option from those given below:

(1) Only (a) and (c) are correct
(2) Only (b) and (c) are correct
(3) Only (a) and (d) are correct

(4) Only (c) and (d) are correct
Options:
615475354171
1547535418 2
61547535419 2
61547535420 4

Question Number : 30 Question Id : 6154759083 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547535417. 1
61547535418, 2
61547535419 3
61547535420, 4

Question Number : 31 Question Id : 6154759084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose two factors that do NOT affect the academic performance of students adversely :

(a) Low zelf — efficacy belief
(b) Belief in God
(c) Indifferent attitude towards politics

(d) Teacher's low expectation from students

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (c) and (d) only

(4) (b) and (d) only

Options:

61547535421, 1
61547535422 2
61547535422 2
E1547535424 4

Question Number : 31 Question Id : 6154759084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535421, 1
E1547535422 2
61547535422 5
61547535424 4

Question Number : 32 Question Id : 6154759085 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the two statements from the following statements are correct?

(a) Sampling — related error 1z subsumed under the category non-sampling error

(b} Sampling error doesn’t occur in multi-stage cluster samphng

(c) Inaccurate sampling frame and non-response are examples of sampling — related
e1Tor.

(d) There 1= an inverse relation between heterogeneity of population and samplhing error.

Choose the correct option :

(1) (a) and (c) only
(2) (a) and (d) only
(3) (b) and (d) only

(4) (b) and (c) only
Options:
£1547535425 1
61547535426, 2
61547535427 2
£1547535428. 4

Question Number : 32 Question Id : 6154759085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547535425, 1
61547535426 2
E1547535427 2
61547535428, 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following historic places with their distingumishing discipline of learming

Last I List IT
Historic places Discipline
(a) Takshila (1) Astronomy
(b) Ujjain (1) Buddhism
() Sarnath (m) Art. Architecture and Painting
(d) Ajanta (1v) Medicine

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (c)-(11). (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)

Options:

51547535429 1

515475354350, 2

51547535421, 3
61547535432, 4

Question Number : 33 Question Id : 6154759086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535429, 1
E1547525420 2
61547525421, 5
61547535422 4

Question Number : 34 Question Id : 6154759087 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following soil orders with their descriptions

(a) Histosols (1)
(b) Andisols (1)
(c) Gelisols (111)
(d) Aridsols (1v)

Choose the correct option from those given below :

—

) (a)-(1v), (b)-Q), (c)-(11), (d)-(111)
2) (a)-(11), (b)-(iv), (¢)-(1), (d)-(111)
3) (a)-(@), (b)-(11), (c)-(111), (d)-(v)
(4) (a)-(1), (b)-(11), (c)-(1v), (d)-(i11)

Options:

61547535433, 1
61547535434 2
61547535435 =
1547535436 4

(

_—

Soil order that includes soils formed on
volcanic ash

Soil order of cold regions including
soils underlain by permafrost

Soil order consisting of soils of dry
climates

Soil order consisting of soils with a
thick upper layer of organic matter.

Question Number : 34 Question Id : 6154759087 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(3) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv)
(4) (a)-(1), (b)-(i1), (¢)-(iv), (d)-(111)

Options:

61547535433, 1

61547535434 2

61547535435 =2

61547535436 4
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Question Number : 35 Question Id : 6154759088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Match List — I with List - IT

List I
(Digital Initative)
(a) UMANG
(by BHIM
(c) eBiz
(d) SWAYAM

Choose the correct option :

(1) (a)-(i1), (b)-(1), (c)-(111), (d)-(av)
(2) (a)-(111), (b)-(11), (¢)-(iv), (d)-@)
(3) (a)-(v), (b)-(ii), (¢)-(1), (d)-(i1)
4) (a)-(1), (b)-(v), (c)-(11), (d)-(111)

@)
(i1)
(111)

(iv)

List II
(Purpose)
G2B Services
Learning platform
Unified payment interface

Single point of access to all

governme nt services.



Options:

61547535437, 1
£1547535438 2
£1547525429 =2
61547535440, 4

Question Number : 35 Question Id : 6154759088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(i1), (b)-(1), (¢)-(ii1), (d)-(1v)
(2) (a)-(iii), (b)-(ii), (¢)-(iv), (d)-G)
(3) (a)-(iv), (b)-(i11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(iv), (¢)-(11), (d)-(111)

Options:

61547535437, 1

61547535438 2

61547535439, 3
61547525440, 4

Question Number : 36 Question Id : 6154759089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match correctly the items of Column I with the items of column II

Column I Column II
(a) Ontology (1) Ideographic
(b) Epistemology (i1) Realism
(¢) Methodolgy (111) Survey
(d) Method (1v) Positivism

Choose the correct option :

(1) (2)-(11), (b)-(iv), (c)-(11), (d)-@)
2) (2)-(11), (b)-(1), (c)-(111), (d)-(1v)
(3) (a)-(w), (b)-(1), (c)-(1), (d)-(111)
4) (a)-(11), (b)-(1v), (¢)-(@), (d)-(111)

Options:
61547535441 1

E1547535442. 2
E1547535443. 3
51547535444, 4

Question Number : 36 Question Id : 6154759089 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) EETHETE (i) et
(b)  SHHEET (i) FEAEFEAER
(c) Tomelt fafer (iii) FEET
(d) T (iv) HHNICHFAER

&l fashoT T

(1) (a)-(i1), (b)-(iv), (¢)-(ii1), (d)-(1)
(2) (a)-(11), (b)-(1), (c)-(111), (d)-(iv)
(3) (a)-(1v), (b)-(11), (¢)-(), (d)-(iii)
(4) (a)-(11), (b)-(iv), (¢)-(1), (d)-(i11)
Options:

E1547535441. 1
B1547535442 2



E1547535443. 3
51547535444, 4

Question Number : 37 Question Id : 6154759090 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the advantage of feedback 1n the process of communication. from the following :

(1) It 1s beneficial in understanding of the subject matter
(2) It diagnoses the defects in receiver
(3) It clarifies the communication
(4) It explores the defects in receiver
Options:

61547535445 1
61547535448, 2
E1547535447. 3
E1547535448. 4

Question Number : 37 Question Id : 6154759090 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535445 1
61547535446, 2
61547535447, 3
E15475354458. 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following values with their distinguishing functions :

List I List IT
(a) Sacrifice (1 Working in a stipulated time
(b)  Sincerity (11) Confinement of individual mind on
action
(c) Self control (1) Showing love and affection
(d) Altruism (iv) Helping without selfish motives

Choose the correct option from those given below :

(1) (a)-(1), (b)-(), (¢)-(iv), (d)-(111)
(2) (a)-(1v), (b)-(1), (e)-(i1), (d)-(111)

(3) )-(111), (b)-(1v), (c)-(1). (d)-(11)
4) (a)-(1), (b)-(111), (c)-(11), (d)-(1v)
Options:

E15475354459. 1
51547535450, 2
51547535451, 3
61547535452, 4

Question Number : 38 Question Id : 6154759091 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 (2)-G), (b)-(). (c)-(v), (d)-(ii1)
(2) (a)-(iv), (b)-(1), (e)-(i1), (d)-(ii1)
(3) (a)-(iii), (b)-(iv), (¢)-(1), (d)-(i1)
(4) (a)-(1), (b)-(Gid), (¢)-(11), (d)-Av)

Options:

61547535449 1
61547535450 2
£1547535451. =2
E1547535452 4

Question Number : 39 Question Id : 6154759092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that lists components for a cyberspace address (URL) in the correct order
from beginning to end?

(1) Protocol, domain name of the host, path / file
(2) Path / file, protocol, domain name of the host
(3) Protocol, path /file, domain name of the host
(4) Domain name of the host, protocol, path / file

Options:

E154753545=2 1

£1547535454 2

61547535455 2

51547535456 4

Question Number : 39 Question Id : 6154759092 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547535453 1
61547535454 2
61547535455 =2
E1547535456 4

Question Number : 40 Question Id : 6154759093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following sequence represents the correct order of soil particles arranged in
terms of particle size from the smallest to the largest?

(1) Gravel, Silt, Clay, Sand (2) Silt, Clay, Gravel, Sand
(3) Clay, Silt, Sand, Gravel (4) Silt, Clay, Sand, Gravel
Options:

E1547535457.
£1547535458.

E1547535459.
51547535460,

[ N S

Question Number : 40 Question Id : 6154759093 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FHEfTRad & 8 % 91 AGHA B ATHR U 52 ATHR & 00 & Hal T & K7 F T8l w187
(L = [P: e, \--=' RIS

[ = ™

(2) e, L, ET STe]

(3 e, T, 9w, w9

(4) T, e, sTe], S,

Options:

61547535457,
61547535458,
61547535459,
£1547535460,

[ N

Question Number : 41 Question Id : 6154759094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of research in the sequence in which they are presented in the thesis

(1) Discussion, Review of Literature, Results, Conceptual Framework, Problem

(2) Review of Literature, Problem, Conceptual Framework, Result, Discussion

(3) Problem, Review of Literature, Conceptual Framework, Results, Discussion

(4) Problem, Review of Literature, Conceptual Framework, Results, Discussion
Options:

E1547535461. 1
E1547535462. 2
B1547535463. 3
61547535464, 4

Question Number : 41 Question Id : 6154759094 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IMI-FTHT 1 MG-Te=4 § T&qq Fd T 69 T T a1 S 2 ¢

(1)  Oi==l, |rfecd =hi TEieT, TRoTE, TFEWo =1, TEE
(2)  TECT <hi THIETT, TS, FAFENON 1, TR, it
(3)  THEHI, |ifecd hi FHIeT, SFUWON @M=, T
(4)  THE, GTEcd i T, FFERON =, T

Options:

£1547535461. 1
E15475354E82 2
61547535462, o
61547535464 4

Question Number : 42 Question Id : 6154759095 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one 1s labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Through on-line teaching a large number of students can be taught by very

competent faculty.

Reason (R) : On-line teaching helps students in developing critical thinking more than

the Off —line teaching can do.

In the light of the above two statements choose the correct option :

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

51547535465, 1
61547535466, 2
61547535467, 3
E1547535468. 4

Question Number : 42 Question Id : 6154759095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535465, 1

61547535466 2

61547535467, 2

61547535468, 4

Question Number : 43 Question Id : 6154759096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements - one is labeled as Assertion (A) and the other 1s labeled as

Reason (R):
Assertion (A) : A blog is a form of social media.
Reason (R) : A blog allows anyone to communicate to a public audience.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are ture and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

4) (A) 1s false, but (R) 1s true



Options:

61547535469, 1
61547535470 2
E1547535471. 2
61547535472 4

Question Number : 43 Question Id : 6154759096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547535469, 1
61547535470 2
61547535471 2
61547535472 4

Question Number : 44 Question Id : 6154759097 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Skill development is a key feature in every individual’s life.
Reason (R) : An individual who wants to get employed, needs to possess good education
only.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) is true
Options:
61547535473 1
E1547535474. 2
61547535475 2
61547535476 4

Question Number : 44 Question Id : 6154759097 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547535473 1

E1547535474. 2



E1547535475. 3
B1547535476. 4

Question Number : 45 Question Id : 6154759098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Government of India established higher educational statutory bodies to

ensure quality of education.

Reason (R) : There are some educational institutions in India which do not provide

quality education.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:

615475354771

E1547535478. 2

£1547535479 2

61547535450 4

Question Number : 45 Question Id : 6154759098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547535477, 1
61547535478 2
£1547535479 =2
E1547525480 4

Sub-Section Number: 3
Sub-Section 1d: 615475395
Question Shuffling Allowed : Yes

Question Id : 6154759099 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the following passage and answer questions which follow.

Eventhough globalisation is one of the most discussed topics in the contemporary world. it 1s
not altogether a well defined concept. A multitude of global interactions are put under the
broad heading of globalisation. varving from the expansion of cultural and scientific
influences across borders to the enlargement of economic and business relations throughout
the world. A wholesale rejection of globalisation would not only go against global business, 1t
would also cut out movements of 1deas. understanding. and knowledge that can help all the
people of the world. including the most disadvantaged members of the world population. A
comprehensive rejection of globalisation can thus be powerfully counterproductive. There 15 a
strong need to separate out the different guestions that appear merged together in the
rhetoric of the antiglobalisation protests. The globahsation of knowledge deserves a
particularly high profile recognition. despite all the good things that can be rightly said
about the importance of "Local knowledge”.

Globalisation 1s often seen. both 1n journalistic discussions and in remarkably many
academic writings. as a process of westernization. Indeed. =ome who take an upbeat niew of
the phenomenon even sees 1t as a contribution of Western civilization to the world.

Sub questions

Question Number : 46 Question Id : 6154759100 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage, which one of the following is not a well defined concept?
(1) Multiculturalism

(2) Identity

(3) Globalisation

(4) Local Knowledge

Options:

615475354511
61547535482, 2
61547535482 o
61547535454 4

Question Number : 47 Question Id : 6154759101 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage, which one of the following is counter productive?
(1) Comprehensive support to globalisation

(2) Wholesale rejection of globalisation

(3) Comprehensive rejection of anti — globalisation protests

(4) Recognition of local knowledge systems

Options:



E1547535485. 1
51547535486, 2
51547535487, 3
61547535488, 4

Question Number : 48 Question Id : 6154759102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage, globalisation i1s perceived often by media and academia as :

(1) Supporting local knowledge systems
(2) Detrimental to local knowledge systems
(3) A process of Westernisation

(4) A process of facilitating global bussiness
Options:
E1547535489 1
61547535490 2
61547535491 =
61547535432 4

Question Number : 49 Question Id : 6154759103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The attempt of the author in the passage is :

(1) Unconditioned advocacy of globalisation

(2) Unconditioned rejection of globalisation

(3) Unconditioned rejection of local knowledge systems
(4) Unbiased evaluation of globalisation

Options:

615475354593 1
615475354394, 2
61547535435 3
E15475354396. 4

Question Number : 50 Question Id : 6154759104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per the passage, a wholesale rejection of globalisation would result in affecting

(a) Global businesses
(b) Movement of Ideas

(c) Local knowledge systems

Choose the correct answer from the options given below :

(1)  (a) and (b) only
(2)  (a) and (c) only
(3) () and (b) only
(4) (a), (b) and (c)

Options:

51547535497, 1
61547535498 2
61547535499 2
£1547535500. 4

Question Id : 6154759099 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154759100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  wg-H&Fiaar (2) TEEH
(3)  STEE (4) TIEE A

Options:

£1547535481. 1
E1547535482 2
61547535482 o
61547535454 4

Question Number : 47 Question Id : 6154759101 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEE F AN AElAlEd J | wE w2

(3)  dvdrmo-Tandi ugeiE f = AEHG (4)  THE T Ggiedl S e
Options:

15475354851

C1547535456. 2

61547535457 2

51547535455 4

Question Number : 48 Question Id : 6154759102 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547535489. 1
615475354380 2
615475354391, 3
61547535432 4

Question Number : 49 Question Id : 6154759103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535493, 1
61547535494 2
£1547535495 =2
61547535406, 4

Question Number : 50 Question Id : 6154759104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
1547525497 1
E1E47EZEAQ9E. 2
1547535499 =2
L15475E35500. 4

PART II Horme Science

Section Id : 615475122

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Pane: Yes

Group All Questions: No
Sub-Section Number: 1

Sub-Section Id: 615475396



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154759105 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

As per ICMR (2010) the Recommended Dietary Allowance for energy for 10-12 year old girl
18 :

(1) 1900 KEcal/day (2) 2010 Kcal/day
(3) 2190 Kcal/day (4) 2230 Kcal/day
Options:

51547535501, 1
61547535502, 2
61547535502, 3
E1547535504. 4

Question Number : 51 Question Id : 6154759105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A3 #1795, (2010) F FTER 10 — 12 =79 Fi =15 =+ 90 So1 = o0, S9ied S 76 7

(1) 1900 faett e uiateT (2) 2010 =1 Frl ufaie
(3) 2190 foeA1 FeArl Tiata (4) 2230 TFeT el Tidte
Options:

E1547535501. 1
E1547535502. 2
51547535503, 3
51547535504, 4

Question Number : 52 Question Id : 6154759106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Choose the incorrect statement about BME

(1) BMR 1s directly related to surface area of body
(2) BMR 1s inversely proportional to age of person
(3) BMR 1= increased in warm climate

(4) Males have higher BMR than age matched females

Options:

61547535505, 1
E1547535506. 2
61547535507, 5
61547535508, 4

Question Number : 52 Question Id : 6154759106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535505, 1
61547535506, 2
61547535507, 2
61547535508, 4

Question Number : 53 Question Id : 6154759107 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A diet high 1n saturated fats can be hnked to which of the following disorders?

(1) Kidney failure (2) Bulimia
(3) Anorexia (4) Cardiovascular diseases
Options:

61547535509, 1
E1547535510. 2
E1547535511. 3
B1547535512. 4

Question Number : 53 Question Id : 6154759107 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ATEN H A a9 Foaal erangd GEn 5 H FEE 568G 7 99l 7
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(3)  @=EaE (4) wEAEF T
Options:

61547535509, 1
61547535510, 2
E1547535511. 3
E1547535512. 4

Question Number : 54 Question Id : 6154759108 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following fat 1s rich in short and medium chain fatty acids?
(1) Butter (2) Peanut ol

(3) Almond o1l (4) Margarine

Options:



E1547535513. 1
61547535514, 2
61547535515 3
61547535516, 4

Question Number : 54 Question Id : 6154759108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475355131
61547535514, 2
61547535515 3
E1547535516. 4

Question Number : 55 Question Id : 6154759109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
BARS 1s a tool used for :

(1) Checking quality of food (2) Designing layout plan
(3) Performance appraisal (4) Feedback communication
Options:

E1547535517. 1
E1547535518. 2
E1547535519. 3
B1547535520. 4

Question Number : 55 Question Id : 6154759109 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547535517. 1
61547535518, 2
615475355149, 3
61547535520, 4

Question Number : 56 Question Id : 6154759110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s HACCP system for?

(1) Physical. Chemical and Biological Hazards

(2) A systemic analysis of all steps and regular momitoring of the control points
(3) Identifving the critical control points, including their location. procedure and process
(4) Accurately monmitoring food hygiene hazards

Options:

51547535521, 1
61547535522 2
61547535522 3
E1547535524. 4

Question Number : 56 Question Id : 6154759110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547535521, 1
E1547535522 2
E1547535523. 3
E1547535524. 4

Question Number : 57 Question Id : 6154759111 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Jams and Jellies can be preserved by adding sugar at concentration of :

(1) 65% (2) T5%
(3) 40% (4) 50%
Options:

615475355251
E1547535526. 2
E1547535527. 3
61547535528, 4

Question Number : 57 Question Id : 6154759111 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 65% 2y 75%
(3) 40% (4) 50%
Options:

E1547535525. 1
E1547535526. 2
B1547535527. 3
61547535528, 4

Question Number : 58 Question Id : 6154759112 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The ability of fibre to maintain thickness 1s :

(1) Elasticity (2) Wickability
(3) Loft (4) Resilience
Options:

61547535529, 1
61547535530, 2
E1547535521. 3
E1547535532. 4

Question Number : 58 Question Id : 6154759112 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
qZTe S T % o0 TE o &mar B 7

(] R T Y Y

(1) =i (2) TaFmEfe
(3) AT (4) TR
Options:

61547535529, 1
61547535530, 2
E1547535521. 3
E1547535532. 4

Question Number : 59 Question Id : 6154759113 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Stitch used to hold several layers of fabric rather than seams 1s called :

(1) Even basting (2) Diagonal basting
(3 Ship basting (4) Pin basting

Options:



E1547535533. 1
61547535534, 2
51547535535, 3
61547535536, 4

Question Number : 59 Question Id : 6154759113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

n L -. ", -, B s Bt = - -y - =
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(3  fm T (@) o o s
Options:

E1547535533. 1
E1547535534. 2
51547535535, 3
61547535536, 4

Question Number : 60 Question Id : 6154759114 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The air space in the fabric may be due to not —————— the spinning solution for varn
preparation.

(1) Filtering (2) Bleaching

(3) Xanthating (4) Ripening

Options:

51547535537, 1
61547535538, 2
615475355359, 3
E1547535540. 4

Question Number : 60 Question Id : 6154759114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T R % o g e s § wAr T T % A T 2

()  fHeef (2) AT

(3)  HEEm (4) fogfm

Options:

51547535537,
61547535538,
61547535539,
£1547535540.
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Question Number : 61 Question Id : 6154759115 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
1

1s the formula to calculate yarn
26 +/counts

(1) Twist (2) Diameter
(3) Count (4) Weight
Options:

E1547535541. 1
B1547535542 2
61547535543, 3
61547535544, 4

Question Number : 61 Question Id : 6154759115 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
1

— d T G E
26,/ =3z

(1) fa= (2) SEHE

(3) T 4) ==
Options:
61547535541,
61547535542,
61547535543,
61547535544

[ N

Question Number : 62 Question Id : 6154759116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The device in machine which feeds thread in sufficient quantity and tightens loop 1s :

(1) Top tension devise (2) Thread guide
(3) Take-up lever (4) Spool pins
Options:

51547535545 1
61547535546, 2
61547535547, 3
61547535548, 4

Question Number : 62 Question Id : 6154759116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547535545. 1
E154753554E. 2
61547535547, 3
61547535548, 4

Question Number : 63 Question Id : 6154759117 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Avold V' neck lines for persons with

(1) Long and thin neck (2) Short and heavy neck
(3) Short and thick neck (4) Long and heavy neck
Options:

61547535549 1
E1547535550. 2
E1547535551. 3
61547535552, 4

Question Number : 63 Question Id : 6154759117 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

V(1) 7er 57 =AfFaa) =l T=E 8 S " SEAT = e

(1) =l 3T 9] T (2) B AT 9 T
(3) BRI AR WE T (4) e 3T A T
Options:

E15475355459. 1
61547535550, 2
61547535551, 3
E1547535552. 4

Question Number : 64 Question Id : 6154759118 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Silhouette 1s the

(1) Arrangement of motifs to give vertical movement
(2) Outline of the clothes noticed from distance

(3) Outline of the clothes with details

(4) Asymmetrically balanced dress

Options:



E1547535553. 1
61547535554, 2
61547535555, 3
61547535556, 4

Question Number : 64 Question Id : 6154759118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T

(1) ==l 5T % =g 2m = ==
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(3)  Ta=wor mfed F=T i =9

(4)  EEE Egfed 34

Options:

615475355531
61547535554 2
61547535555 =2
E15475325556 4

Question Number : 65 Question Id : 6154759119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Herzberg's Motivation-Hygiene theory, which of the following 1s NOT a hygiene
factor?

(1) Working conditions (2) Salary
(3) Relationship with supervisor (4) Work itself
Options:

E1547535557. 1
E1547535558. 2
E1547535559. 3
51547535560, 4

Question Number : 65 Question Id : 6154759119 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FHE % ARY-FEAA fagE = sEn eeiEa 8 ®@ # 91 wEsiE wF A6 2 7

(1) SR =T (2) =T
(3)  THEME & WY HEY (4) = A AgH
Options:

E1547535557. 1
E1547535558. 2
61547535559, 3
61547535560, 4



Question Number : 66 Question Id : 6154759120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Resources which are present in the environment. but have not been utilized, are called as :

(1) Reserves (2) Stock
(3) Developed Resources (4) Potential Resources
Options:

£1547535561. 1
61547535562, 2
E1547535563. 3
B1547535564. 4

Question Number : 66 Question Id : 6154759120 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o7 TEE A FAE § 39T & g TE A6 S T R, FEed o
(1)  fr==m (2) ¥SH

(38)  Ta=wfma Temaa (4) Taad FETEE
Options:

51547535561, 1
61547535562, 2
61547535563, 3
61547535564, 4

Question Number : 67 Question Id : 6154759121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Avoiding products due to disapproval, such as polluting cars, 1s referred to as :

(1) Positive buying (2) Negative buying
(3) Forced buying (4) Impulsive buying
Options:

51547535565, 1
61547535566, 2
61547535567, 3
E1547535568. 4

Question Number : 67 Question Id : 6154759121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547535565. 1
E1547535566. 2
B1547535567. 3
61547535568, 4

Question Number : 68 Question Id : 6154759122 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which famous management thinker was associated with the development of theory X'?

(1) Douglas McGregor (2) Abraham Maslow
(3) Fredrick Herzberg (4) Chester Barnard
Options:

515475355659, 1
61547535570, 2
61547535571, 3
E1547535572. 4

Question Number : 68 Question Id : 6154759122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547535569. 1
61547535570, 2
61547535571, 3
E1547535572. 4

Question Number : 69 Question Id : 6154759123 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The process of encapsulating a building with steel beams or girders to make 1t an

earthqualke resistant structure 1s called :

(1) Plastering (2) Retrofitting
(3) Pointing (4) Bonding
Options:

B1547535573. 1
61547535574, 2
61547535575, 3
61547535576, 4

Question Number : 69 Question Id : 6154759123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
EG le Il"]‘_‘l i:f J_.T-‘: - Eﬁn :j:[w T |-.E_:;I. HEER H:f-q;gﬁ 25{'—:” EFI'I;-T ﬁ :I'F:;fr:i 'Elr_,'i: ;I.Hi ﬁ i

(1) =i (2) T

(3) st (4) =St
Options:
61547535573,
61547535574,
61547535575,
61547535576,

o LIPS

Question Number : 70 Question Id : 6154759124 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The quotient obtained by dividing the total covered area on all floors by the total area of the

plot. multiplied by 100 1s called :

(1) FAR (2) GRIHA
(3) NBC (4 TIAQ
Options:

E1547535577. 1
E1547535578. 2
61547535575, 3
61547535580, 4

Question Number : 70 Question Id : 6154759124 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535577, 1
61547535578, 2
E1547535578. 3
E1547535580. 4

Question Number : 71 Question Id : 6154759125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ancient pyramids are examples of :

(1) Structural design (2) Decorative design
(3) Textured design (4) Interesting design
Options:

51547535581, 1
61547535582, 2
61547535583, 3
E1547535584. 4

Question Number : 71 Question Id : 6154759125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535581, 1
61547535582, 2
E1547535583. 3
E1547535584. 4

Question Number : 72 Question Id : 6154759126 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The theory that emphasizes 1mitation or observational learning 1s called :

(1) Psychosocial theory (2) Psychosexual theory

(3) Social learning theory (4) Socio cultural theory



Options:

61547535585, 1
£1547535586 2
E1547535587. 2
61547535588, 4

Question Number : 72 Question Id : 6154759126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
% firgia 1 TPl AT YA FH T g 21 2, FEel F

(1) HAT-HHIT A HgT (2) TEFEFEIS TZT
(3)  wmIEH-dg TagE (4) FETAH-FFAF Hg
Options:

£1547535585. 1
61547535586, 2
E1547535587. 3
E1547535588. 4

Question Number : 73 Question Id : 6154759127 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A newborn reflex in which the toes fan out when the sole of the foot 1= stroked from toe to

heal 1s called :

(1) Palmar grasp (2) Moro
(3) Rooting (4) Babinsk:
Options:

B1547535589. 1
61547535580, 2
615475355391, 3
61547535532, 4

Question Number : 73 Question Id : 6154759127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547535589, 1
E15475355390. 2
E1547535591. 3
51547535582, 4



Question Number : 74 Question Id : 6154759128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Two vear old Ananya uses the word doggy for any animal with four legs. She 1s committing a

language error called

(1) Under extension (2) Over extension
(3) Under regularization (4) Preoperational
Options:

61547535593, 1
61547535594, 2
E1547535585. 3
E1547535596. 4

Question Number : 74 Question Id : 6154759128 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i ad i s TRt 9 9 ATt Wt S wEd R | 9E 9 A W R 5 e A
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Options:

515475355593, 1
615475355394, 2
615475355395, 3
E1547535596. 4

Question Number : 75 Question Id : 6154759129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A person with not less than 40% of a specified disability as certified by the certifyving
authority 1s called :

(1) Person with multiple handicaps (2) Person with development disability
(3 Person with benchmark disability (4) Person with serious impairment
Options:

615475355397, 1
E15475355958. 2
E1547535599. 3
515475356800, 4

Question Number : 75 Question Id : 6154759129 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547535557, 1
61547535598, 2
61547535599, 3
E1547535600. 4

Question Number : 76 Question Id : 6154759130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If ‘A’ thinks that his culture is naturally superior to that of ‘B’s, then what word best
describes A's attitude?

(1) Anthrocentric (2) Ethnographic
(3 Ethnocentric (4) Entomological
Options:

61547535601, 1
61547535602, 2
E1547535603. 3
E1547535604. 4

Question Number : 76 Question Id : 6154759130 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
a3 ‘A’ T & T me S wmes ' H B " 309w 2 A A F T # e mE v g
aforg foar smom ?

(1)  uuE== (2) FoTHE T
(3)  UEATEfZE (4) FaATE
Options:

61547535601, 1
61547535602, 2
E1547535603. 3
E1547535604. 4

Question Number : 77 Question Id : 6154759131 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A person between the ages of 50 and 65 vears 1s likely to have most difficulty in :

(1) Reading a wall chart at the eye care doctor’s office with a large font size
(2) Reading a street hoarding

(3) Reading a news paper

(4) Watching a TV programme

Options:



E1547535605. 1
615475356806, 2
615475356807, 3
61547535608, 4

Question Number : 77 Question Id : 6154759131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
50 & 65 @ = g AT & Al I BEG ATTH THET 7 T

e
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Options:

E1E47E2EE0E 1

C1547E35E0E. 2

E1547535607. 3
E1547535608. 4

Question Number : 78 Question Id : 6154759132 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A crucial step 1n rehabilitating a child, by the process of legal adoption through the JJ Act. if

the child 18 surrendered 1s

(1) Certifying that a child has severe disability
(2) Contacting child line that the child has no care giver
(3) News paper notification that a chald 1s missing

(4) Declaring the child 1s legally free for adoption by CWC
Options:

61547535609 1

61547535610 2

1547535611 2

1547535612 4

Question Number : 78 Question Id : 6154759132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535609, 1

61547535610, 2

61547535611, 3

61547535612, 4

Question Number : 79 Question Id : 6154759133 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Sarva Shiksha Abhivan (SSA) was launched for :

(1) Universalization of High School Education in Urban areas

(2) Universalization of Middle School Education in Rural area
(3) Universalization of non formal Eduecation

(4) Universalization of Elementary Education

Options:

E1547535613. 1
615475356814, 2
£1547535615. 3
61547535616 4

Question Number : 79 Question Id : 6154759133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T e AfeEE (79 vE u) F AR sEfen T
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Options:

615475356131

61547535614 2



E1547535615. 3
B15475356816. 4

Question Number : 80 Question Id : 6154759134 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The classical period of history of communication 1s marked by the work on Rhetoric’ by :

(1) Arstotle (2) Derito
(3) Ensminger (4) Shramm
Options:

E1547535617. 1
51547535618, 2
61547535615, 3
61547535620, 4

Question Number : 80 Question Id : 6154759134 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
g % SfaEr F WA e 1 e I W T T & g I HfEa e g

(1) e (2) =f@
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Options:

61547535617, 1
61547535618, 2
E1547535618. 3
E1547535620. 4

Question Number : 81 Question Id : 6154759135 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Flat puppets which are operated against the rear of a tightly stretched white cloth screen

with light behind 1s called :

(1) Glove puppet (2) String puppet
(3) Shadow puppet (4) Rod puppet
Options:

61547535621, 1
E1547535622. 2
E1547535623. 3
61547535624, 4

Question Number : 81 Question Id : 6154759135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547535621. 1
B15475356822. 2
61547535623, 3
E1547535624. 4

Question Number : 82 Question Id : 6154759136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrack movement or Ant1 liquor movement was led by women 1n which state of India?

(1) Manipur (2) Punjab
(3) Rajasthan (4) Andhra Pradesh
Options:

E1547535625. 1
B15475356826. 2
E1547535627. 3
E1547535628. 4

Question Number : 82 Question Id : 6154759136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535625 1
E1547535626. 2
E1547535627. 3
61547535628, 4

Question Number : 83 Question Id : 6154759137 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



According to which theory of interpersonal communication. we develop and maintain those

relationships. wherein, ratio of our rewards and costs 1s equal to our partner's?

(1) Social Exchange theory
(2) Equity theory
(3) Functional theory

(4) Coordinated management of meaning theory
Options:
61547535629 1
61547535620 2
1547535651, 2
E1547535632 4

Question Number : 83 Question Id : 6154759137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AR AT Fomm % 0 g ¥ AW 59 I 599l F1 GHE 4 £ 991 3% 5 590 wEd B
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Options:

1547535629, 1
E1547535620. 2
61547535621,
61547535632 4

Question Number : 84 Question Id : 6154759138 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The leader who clearly articulates the goal. the agenda and the expectations. providing the
specific guidance to the group members 1s called :

(1) Directive leader
(2) Participative leader

(3) Supportive leader

(4) Achievement oriented leader
Options:
L1E47535652 1
15475256854 2
L1547535E35 2



E1547535636. 4

Question Number : 84 Question Id : 6154759138 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HYE F HEEl i fafme e e 29 wu eiew, BEge (USS1) a9 TeAEn 90 Y W Swaiid Hid a4
(1) THeamea=s ==t
(2)  HEUPl st

(3)  TUHE wET

(4)  IT=fEE At =i
Options:

51547535633, 1
E1547525634 2
E1547535635 3
BE1547535636. 4

Question Number : 85 Question Id : 6154759139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Tvpe II error occurs when we :

(1) Reject a false null hypothesis
(2) Reject a true null hypothesis
(3) Do not reject a false null hypothesis
(4) Do not reject a true null hypothesis

Options:

61547535637, 1
61547535638, 2
61547535639 2
61547535640 4

Question Number : 85 Question Id : 6154759139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547535637, 1



E1547535638. 2
61547535639, 3
51547535640, 4

Question Number : 86 Question Id : 6154759140 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Events are ——————— when the occurance of one event has no effect on the probability that
another event will occur.

(1) Simultaneous (2) Independent
(3) Exhaustive (4) Dependent
Options:

61547535641, 1
61547535642 2
E1547535643. 3
E1547535644. 4

Question Number : 86 Question Id : 6154759140 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HEATl B WE UH "eAT % uied =F 1 "icd B Al ZEi UEAT i S9eIal 9 e T A

*d

ERIN
(1)  HHHITAE (2) =
(3)  mETm (4) =nisE
Options:

515475356411
61547535642 2
61547535643, 3
E1547535644. 4

Question Number : 87 Question Id : 6154759141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The totality of all objects under a study 1s called

(1) Sample (2) Group
(3 Population (4) Specimen
Options:

E1547535645. 1
61547535646, 2
E1547535647. 3
51547535648, 4

Question Number : 87 Question Id : 6154759141 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ol 319999 & 31 T Aea%ed i gauar =i FEd B

(1) = (2) == ()
(3) ST (4) T
Options:

61547535645 1
61547535646, 2
61547535647, 3
E15475356458. 4

Question Number : 88 Question Id : 6154759142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Testing Hypothesis 1s a

(1) Inferential statistic (2) Descriptive statistic
(3) Data preparation (4) Data analysis
Options:

515475356459 1
61547535650, 2
E1547535651. 3
E1547535652. 4

Question Number : 88 Question Id : 6154759142 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T AU U 2
(1)  sT=ETF Fieh (2) TaamoerF (Tefortea) aife
(3)  ATFS A (4) @t = fagemm

Options:

E1547535645. 1
51547535650, 2
61547535651, 3
61547535652, 4

Question Number : 89 Question Id : 6154759143 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Action research means :

(1) A longitudinal research

(2) An applied research

(3) A research imitiated to solve an immediate problem
(4) A research with soclo-economic objective

Options:



E1547535653. 1
61547535654, 2
61547535655, 3
61547535656, 4

Question Number : 89 Question Id : 6154759143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(1)  ¥2=A a9
(2) S (TES) SgEaE
(3)  ATCHIAF T F HETEIH F A0 Ay s
(4) T - AT F 22741 Afed ATEaH
Options:
15475356551
1547535654 2

51547535655, 3
51547535656, 4

Question Number : 90 Question Id : 6154759144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In an experimental design. the dependent variable 1s :

(1) The one that 1s manipulated 1n order to observe any effect on the other

(2) The one that 1= not mampulated and in which any changes are observed

(3) A measure of the extent to which personal values affect research

(4) An ambiguous concept whose meaning depends on how 1t 1s defined
Options:

61547535657, 1
61547535658, 2
E1547535659. 3
E1547535660. 4

Question Number : 90 Question Id : 6154759144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E1547535657. 1
61547535658, 2
51547535659, 3
61547535660, 4

Question Number : 91 Question Id : 6154759145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In the nutritional management of chronic renal failure, following are restricted in the diet

(a) Protein

(b) Sodium

(c) Carbohydrates
(d) Water

(e) Energy

Choose the correct option :

(1) (a). (b). (d)
(2) (a). (b). (c)
(3) (b). (c). (e)

(4) (a). (c). (e)
Options:
61547535661 1
E1547535662. 2
BE1547535663. 3
61547535664 4

Question Number : 91 Question Id : 6154759145 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(@)  TEH

(b)  =IfsAH
(c) TEEESE
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(2) (a). (b). (c)
(3) (b). (c). (e)

(4) (a). (c). (e)
Options:
61547535661, 1
61547535662, 2
61547535663 2
61547525664, 4

Question Number : 92 Question Id : 6154759146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Following are the functions of protein in human body :

(a) Growth and maintenance of tissues
(h) Promoter growth of desirable bacteria
(c) Acts as an insulator

(d) Maintenance of appropriate pH

(e) Transportation of nutrients

Select the correct option :

(1) (a), (b). (d)
(2) (a). (c). (d)
(3) (a). (c). (e)

(4) (a), (d). (e)
Options:
E1547535665. 1
61547535666, 2
61547535667, o
61547535668, 4

Question Number : 92 Question Id : 6154759146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a). (b). (d)
(2) (a). (c). (d)
(3) (a). (c). (e)

(4) (a). (d). (e)
Options:
E1547535665. 1
61547535666, 2
61547535667, 2
61547535668, 4

Question Number : 93 Question Id : 6154759147 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Following foods are cooked by the method of broiling :

(a) Papad

(b) Sweet potato
(c) Flaky pastry
(d) Chappaties

(e) Apple pie

Select the correct option :

(1) (a). (b). (¢
(2) (a). (b). (d)
(3) (b). (c). (d)

(4) (b). (c). (e)
Options:
615475356649 1
E1547535670. 2
BE1547535671. 2
61547535672 4

Question Number : 93 Question Id : 6154759147 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



(a) RIRE

(b)  TFHES

(c)  TIEER T
(d)  arfe

(e)  T® =i WE (Uu= UE)

(1) (a). (b). (c)
(2) (a), (b). (d)
(3) (b), (c). (d)

(4) (b). (c). (e)
Options:
615475356649 1
61547535670, 2
61547535671, 3
61547535672 4

Question Number : 94 Question Id : 6154759148 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following factors inhibit caleium absorption?

(a) Oxalic acid
(b) Protein

(c) Caffeine

(d) Phytic acid

(e) Lactose

Select the correct option :

(1) (a). (D). ()
(2) (a). (b). (d)
(3)  (a).(c) (d)
(4) (a). (c). (e)

Options:

61547535673,
£1547535674.
E1547535675.
61547535676,

o IR

Question Number : 94 Question Id : 6154759148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a), (b), (c)
(2) (a). (b). (d)
(3) (a). (c). (d)

(4) (a). (c). (e)
Options:
61547535673, 1
61547535674 2
61547535675 2
1547535676 4

Question Number : 95 Question Id : 6154759149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Enzymatic browning 1n cut fruits and vegetables can be prevented by :

(a) Balancing

(b) Increasing pH

(c) Use of antioxidants
(d) Dipping in water

(e) Leaving exposed to air

Select the correct option :

(1) (a). (b). (c)
(2) (a). (b). (d)
(3) (a). (e). (d)

(4) (a). (c). (e)
Options:
61547535677, 1
61547535675 2
61547535679, 3
61547535680 4

Question Number : 95 Question Id : 6154759149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a). (b). (c)
2)  (a). ({).(d)
(3)  (a).(c).(d)
4)  (a). (c). (e)

Options:

61547535677, 1
61547535678, 2
61547535679 2
61547535680 4

Question Number : 96 Question Id : 6154759150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The essentials of clothing for infants are :

(a) Variety
(b) Comfort
(c) Style

(d) Hygiene

(e) Warmth

Choose the correct option :

(1) (b). (c). (e)
(2) (a). (c). (e)
(3) (b). (d). (e)

4)  (a). (b). (¢)
Options:
615475356581, 1
61547535682 2
61547535683, 3
61547535684, 4

Question Number : 96 Question Id : 6154759150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) T
(b) HATTH
(c) S
(d)  FEAE
(e) AR

(1) (b). (c). (e)
(2) (a). (c). (e)
(3) (b), (d). (e)

(4) (a). (b). (c)
Options:
15475356811
E1547535882. 2
61547535682, 5
61547535684, 4

Question Number : 97 Question Id : 6154759151 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Following are the physical properties of silk :

(a) Smooth fibre
(b) Moderate elongation
(c) High density

(d) Low moisture regain

Choose the correct option :

(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)

(4) (a) and (d)

Options:

61547535685, 1
61547535686, 2
61547535687, 2
1547535688 4

Question Number : 97 Question Id : 6154759151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535685, 1
61547535686, 2
61547535687, 2
61547535688, 4

Question Number : 98 Question Id : 6154759152 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A carded yvarn s :

(a) Coarse

(b) Smooth

(c) Less durable
(d) More durable

(e) Fine

Choose the correct option :

(1) (b) and (¢)
(2) (b) and (d)
(3) (a) and (¢)

(4) (d) and (e)
Options:
1547535689, 1
E1547535690 2
615475325691, 5
61547535692, 4

Question Number : 98 Question Id : 6154759152 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (b) 3 (c)
(2) (b) 3T (d)
(3  (a) 3 (©

(4) (d) FTT (e)

Options:

61547535689, 1
E1547535690 2
615475325691, 5
61547535692, 4

Question Number : 99 Question Id : 6154759153 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Gathering effect will be best on :

(a) malmal
(b) taffeta
(c) chiffon
(d) linen

Choose the correct option from above :

(1) (a) and (b)
(2) (a) and (c)
(3) (c) and (d)

(4) (b) and (d)
Options:
61547535693 1
E1547535684 2
E1547535655 2
615475356596 4

Question Number : 99 Question Id : 6154759153 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547535693, 1
61547535694 2
E1547535895 2
1547535696, 4

Question Number : 100 Question Id : 6154759154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following are components of compensation :

(a) Basic pay
(b) Collective bargaining
(c) Incentives

(d) Base compensation

Choose the correct option :

(1) (a). (b)
(2)  (b). (d)
(3) (a). (c)
(4)  (a).(d
Options:

61547535657, 1
615475356388, 2
E15475356399. 3
61547535700, 4

Question Number : 100 Question Id : 6154759154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) HFI‘;FH
(b)  TMEF AE-9E

(c) BIECIES

(d)  HTEW gA @i

(1) (2. (b)
(2) (b). (d)

(3) (a). (c)

(4) (a). (d)
Options:
61547535697, 1
61547535698, 2
61547535699 2
61547535700, 4

Question Number : 101 Question 1d : 6154759155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements describe the focus of the conceptual framework of systems

approach?

(a) Management cannot be viewed as an 1solated activity

(b) Individual components without loosing sight of totality

(c) Dynamics of ecological cultural system
(d) Inter-relationships. inter-dependence and interaction
(e) Proficiency and ability to function in an eco-system

Choose the correct option :

(1) (a). (b). (c)
(2) (b). (d). (e)
(3) (c). (d). (e)

(4)  (a). (b). (d)
Options:
615475357011
61547535702 2
61547535703, 3
61547535704, 4

Question Number : 101 Question Id : 6154759155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a). (b). ()
(2)  (b). (d).(e)
(3)  (c). (d). (e)
4) (@ (b). (d)

Options:

61547535701, 1
61547535702 2
E15475357032. 2
61547535704, 4

Question Number : 102 Question Id : 6154759156 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following types of house plans are 2-dimensional?

(a) Floor plan

(b) Perspective plan
(c) Elevation plan
(d) Section plan

(e) Landscape plan

Choose the correct option :

(1) (a). (b). (¢)
(2) (b). (c). (e)
(3)  (a) (). (d)

(4)  (c). (d). (e)
Options:
61547535705 1
E1547535708. 2
E154Y535707. 3
61547535708 4

Question Number : 102 Question Id ;: 6154759156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a). (b). (c)
(2) (b). (c). (e)
(3) (a). (c). (d)

(4) (c). (d). (e)
Options:
61547535705 1
E1547535708. 2
E1547535707. 3
61547535708 4

Question Number : 103 Question Id ;: 6154759157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are applicable to programming graphics (pre-design phase) during
design development process?

(a) Graphic worksheets

(b) Analysis cards

(c) Varety of matries

(d) Bubble diagram

Choose the correct option :

(1) (a). (b). (d)
(2) (a). (b). (c)
(3)  (b). (c). (d)

4 (@ (e (d)
Options:
61547535709
E1547535710.
B1547535711.
61547535712

[ N

Question Number : 103 Question 1d : 6154759157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  (a). (b). (d)
(2) (@) (b). ()
(3)  (b). (c). (d)

(4)  (a).(c). (d)
Options:
615475357091
61547535710, 2
61547535711 =
61547535712, 4

Question Number : 104 Question Id : 6154759158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Traction refers to :

(a) Feeling of being pulled along by inertia inherent in the activity
(b) Ability to do multitasking
(c) Ability to work skillfully on machines

(d) Inner drive for completing the task in hand

Choose the correct option :

(1) (a). (b)
(2) (a). (c)
(3) (b). (d)

(4) (a). (d)



Options:

615475357131
1547535714 2
E1547535715 2
61547535716, 4

Question Number : 104 Question Id : 6154759158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a). (b

(2) (a). (c)

(3) (b). (d)

(4) (a). (d)
Options:

E1547535713. 1
E1547535714. 2
61547535715 3
61547535716, 4

Question Number : 105 Question 1d : 6154759159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Select the three reflexes that should disappear by 4 months of age 1n a normal infant :

(a) Tonic neck

(b) Palmar grasp

(c) Involuntary sucking
(d) Babinski

(e) Eve blink

Choose the correct option :

(1) (a). (b). (c)
(2) (a). (b). (d)
(3) (b). (c). (d)

(4) (b). (d). (e)
Options:
615475357171

E1547535718. 2
E1547535718. 3
B1547535720. 4

Question Number : 105 Question Id : 6154759159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(4) (b). (d). (e)

Options:

61547535717, 1
61547535718 2
E1547535719. 2
61547535720, 4

Question Number : 106 Question Id : 6154759160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Asthma attacks in children are usually provoked by :

(a) Physical and emotional stress
(b) Television viewing
(c) Food allergies

(d) Seasonal transitions

Choose the correct options :

(1) (a). (b). (e)
(2) (a). (b). (d)
(3) (a). (c). (d)

(4) (b). (e). (d)

Options:

615475357211
61547535722 2
61547535722
61547535724 4

Question Number : 106 Question Id ;: 6154759160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a). (0). (¢)
(2) (a). (b). (d)
(3) (a). (c). (d)

(4) (b). (¢), (d)
Options:
£1547535721. 1
E1547535722. 2
E1547535723. 3
61547535724 4

Question Number : 107 Question Id ;: 6154759161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following criteria can be used to define intellectual disabilities :

(a) Inability to converse fluently in English and Hind1
(b) Significantly below average intellectual functioming
(c) Impairment in adaptive functioning

(d) Deficit should be manifested before the age of 18 yrs

Choose the correct options ;

(1) (a). (b). (c)
(2) (a). (b). (d)
(3) (a). (c). (d)

4 (b (o). (d)
Options:
61547535725 1
61547535726 2
61547535727, 3
61547535728 4

Question Number : 107 Question Id : 6154759161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HiTgh HIHAT T TEAG T4 F 0 Ffangd 9hed &1 990 5 51 39607 &

(a) oW TETE =9 ° sfterw qun 5l | wie i e
(b)  #Ed o @A A g e
() 3= (Tzifezd) framiiern =i afa

(d)  18T9 Fi W | TR A9 THS TAT =AY

(1) (a). (b). (e)
(2) (a), (b). (d)
(3) (a). (c). (d)

4 () (o). (d)



Options:

615475357251
61547535726 2
E1547535727. 2
61547535728 4

Question Number : 108 Question Id : 6154759162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Radha and Pradeep are unable to have a biological child. The doctor may suggest the

following options to them
(a) IVF

(b) Altruistic surrogacy
(c) Adoption

(d) Cloning

Choose the correct option :

(1) (a). (b). (e)
(2) (a). (b). (d)
(3) (a). (). (d)

(4) (b). (c). (d)
Options:
E1547525729. 1
E1547535730 2
BE1547535731. 3
61547535732 4

Question Number : 108 Question 1d : 6154759162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d)  FeAr

(1)  (a). (b). (c)

(2)  (a). (b).(d)

(3)  (a) (). (d)

(4)  (b). (c). (d)
Options:

615475357291
61547535730, 2
E1547535721. 3
E1547535732. 4

Question Number : 109 Question Id : 6154759163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Workshops conducted for young parents in preschools highlight best practises of childecare.
Select salient areas promoted :

(a) Importance of play

(b) Consistent discipline

() Balance diet

(d) Atleast 2 hrs of screen time

(e) Conversation with children

Choose the correct option :

(1)  @.®). @
(2) (a). (b). (d)
(3)  (b). (c). (d)
(4) (a). (d). (e)



Options:

615475357331
61547535734 2
E1547535735 2
61547535736, 4

Question Number : 109 Question Id : 6154759163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I TrE-Toe % o fEmmm-E (Miepe) d AEiiaa wEeen se h 3@Ee Bl FEeE SAEEn

(a) e F HEed

(b)  HET A

(c) Hdfeid AER

(d) =R I A2 F EhE T

() === = =Y AT

Tl Taemed =1 =99 FiA

(1) (a). (b). (c)
(2) (a). (b). (d)
(3) (b). (c). (d)

(4)  (a), (d). (e)
Options:
615475357331
61547535734 2
61547535725 2
615475357356, 4

Question Number : 110 Question Id : 6154759164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The role of public relations in the marketing 1s to :

(a) handle media

(b) maintain customer relations
(c) build corporate 1mage

(d) do personal selling

(e) manage people’s perceptions

Choose the correct option :

(1) (a). (b). (c). (d)
(2) (b). (c). (d). (e)
(3) (a). (b). (c). (e)

(4) (a). (c). (d). (e)
Options:

B1547535737. 1
E1547535738. 2
BE1547535739 3
61547535740 4

Question Number : 110 Question 1d : 6154759164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(D (a). (b). (c). (d)
(2) (). (e). (d). (e)
(3) (a). (b). (c). ()
(4) (). (c). (d). (e)

Options:

61547535737, 1
61547535738 2
E15475357329. 2
61547535740, 4

Question Number : 111 Question Id : 6154759165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Bloom's taxonomy of learning objectives involves the following concepts :

(a) Analysis

(b) Svnthesis

(c) Comprehension
(d) Memory

(e) Retention

Choose the correct option :

(1) (a). (b). (c)
(2) (b). (c). (d)
(3) (c). (d). (e)

4 (b). (d). (e)
Options:
61547535741, 1
61547535742 2
61547535743 o
61547535744 4

Question Number : 111 Question Id : 6154759165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a). (b). (c)
(2) (b). (c). (d)
(3) (c). (d). (e)

(4) (b). (d). (e)
Options:
61547535741, 1
61547535742 2
61547535743 2
61547535744 4

Question Number : 112 Question Id : 6154759166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“Community Organisation” 1s a :

(a) short term approach
(b) technique for obtaining consensus
(c) process of building and maintaining community interest

(d) long term approach

Choose the coorect option :

D (a). (). ()
(2) (&) (). (d)
(3) (b (e). (d)

4)  (a).(b). (d)
Options:
61547535745 1
61547535746, 2
61547535747, 5
61547535748 4

Question Number : 112 Question Id ;: 6154759166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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d)  SEETAE 9

(1) (a). (b). (c)
(2) (a). (c). (d)
(3) (b). (c). (d)

(4) (a). (b). (d)
Options:
615475357451
61547535746 2
61547535747 3
61547535745 4

Question Number : 113 Question Id : 6154759167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2-D Aids used in extension education activities are :

(a) Flash cards
(b) Flip charts

{c) Posters

(d) Campaigns

(e) Radio

Choose the correct option :

(1) (a). (b). (c)
(2) (b). (c). (d)
(3) (a). (b). (d)

(4)  (a). (c). (d)
Options:
61547535749, 1
61547535750 2
61547535751, 2
61547535752 4

Question Number : 113 Question Id : 6154759167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) Y FE (Flash cards)

(b)  =ceig = (Flip charts)

(c) L=z
(d) i
(e)  Ifs=

(1) (a). (b). (c)
(2) (). (c). (d)
(3) (a). (b). (d)

(4) (a). (c), (d)
Options:
£1547535749 1
61547535750, 2
61547535751, 2
61547535752 4

Question Number : 114 Question 1d : 6154759168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following statements regarding the F-distrbution are true :

(a) F-distribution has 2 sets of degrees of freedom
(b) F-distmbution has 1 set of degree of freedom

(c) F-distribution 1s used to test the null-hypothesis that the population variances are

equal
(d) F-distribution 1s an all positive distribution

(e) F-distmbution 1s both positive and negative distribution

Select the most appropriate option :

(1) (a). (c). (e)
(2)  (a). (c). (d)
(3) (b). (c). (d)

(4) (b). (c). (e)
Options:
615475357521
61547535754 2
61547535755 3
61547535756, 4

Question Number : 114 Question Id : 6154759168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a). (c). (e)
(2) (a). (c). (d)
(3) (b). (), (d)

4) (). (). (e)
Options:
615475357521
61547535754 2
61547535755, 3
61547535756, 4

Question Number : 115 Question Id : 6154759169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are ethical guidelines for conducting research with humans?

(a) Getting informed consent of the participants

(h) Telling participants that they must continue until the study has been completed
(c) Keeping participants identity anonymous

(d) Telling participants that they are free to withdraw at any time

(e) Revealing the 1dentity of participants

Choose the correct option :

(1) (a). (b). (c)
(2) (a). (c). (d)
(3) (a). (b). (e)

(4) (a), (d). (e)
Options:
61547535757,
61547535758,
61547535759,
£1547535760.

[ N

Question Number : 115 Question Id : 6154759169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a). (b). (c)
(2) (a). (e). (d)
(3) (a), (b). (e)

(4) (a). (d). (e)
Options:
615475357571
61547535758 2
61547535759 3
61547535760, 4

Question Number : 116 Question Id : 6154759170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to ATP III classification, match the serum hipid given in List-I with their normal
cut-off levels given i1n List-II.

(a)
(b)

(d)

List I
(Serum hipids)
Total cholestrol
LDL cholestrol
HDL cholestrol

Serum Triglycerides

Select the correct option:

(1)
(2)
(3)
(4)

Options:

(a)-(1v). (b)-(i11). (c)-(v). (d)-().
(a)-(11). (b)-(Av). (c)-(). (d)-(v)
(a)-(1v). (b)-(v). (c)-(111). (d)-(11)
(a)-(i1). (b)-(v). ()-(v). (d)-()

51547535761, 1
E1547535762. 2
61547535762, 3
E1547535764. 4

(1)

(i1)
(1i1)
(1v)

(v)

List IT
(Cut off levels)
< 150 mg / dl
< 240 mg / dl
< 100 mg / dl
= 200 mg /dl
40 — 60 mg / dl

Question Number : 116 Question Id : 6154759170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) 22 Fichia

(b) TUH.Z.TH i

(¢) TH.E.UH HeAw=

(d) A FFEEEsa
(1) (a)-(1v). (b)-(111). (c)-(v). (d)-(1)
(2) (a)-(11), (b)-(v), (e)-(1). (d)-(v)
(3) (a)-(v). (b)-(v), (c)-(111). (d)-(i1)
(4) (a)-(11). (b)-(1v). (c)-(v). (d)-(1)

Options:

E1547535761. 1
B1547535762. 2
61547535763, 3
61547535764, 4

oI
(Tar=ded =)
<150 mg/dl
<240 mg / dl
<100 mg /dl
<200 mg /dl
40 — 60 mg / dl

Question Number : 117 Question 1d : 6154759171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the nutrient given in List-I with its defeciency symptom given 1n List-II.

List I List IT
(Nutrient) (Deficiency Symptom)
(a) Proteins (1) Tachycardia
(b) Vitamin A (1) Glossitis
(¢) Thiamn (m) Dyspigmentation of Hair
(d) Niacin (iv) Rachitic Rosary
(e) Calcium (v)  Follicular Hyperkeratosis

(vi) Koilonychia
Select the correct option:

(1) (a)-(m). (b)-(v1). (c)-(v). (d)-(2), (e)-(v)
(2) (a)-(v). (b)-(i). (c)-(iv), (d)-(v1). (e)-(iii)
(3) (a)-(111). (b)-(v). (c)-(1). (d)-(11). (e)-(v)
4)  (a)-(). b)-(v). (©)-(v1). (D-(1). (e)-(v)

Options:

615475357651

61547535766 2

61547535767, 3

61547535768, 4

Question Number : 117 Question Id : 6154759171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-Gu). (b)-(v1). (c)-(v). (d)-(1), (e)-(1v)
(2)  (@)-(v). (b)-(1), (c)-(v). (d)-(v1). (e)-(111)
(3)  (@-(u). (b)-(v). (0)-(). (d)-(u). (e)-(1v)
@ (a)-). b)-(v), (©)-(v1). (d)-(Q). (e)-(1v)

Options:

61547535765,
£1547535766.
E1547535767.
61547535768,

o IR

Question Number : 118 Question Id : 6154759172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the preservative given in List-I with the food preparation in which they are used
grven in Last-II

List I List IT
(Preservative) (Food Preparation)
(a) Benzoic acid (1) Cheese
(b) Sulphur dioxide (1) Chutney
() Nisin (m) Dehydrated vegetables
(d) Aceticacd (1v) Processed meats
() Sodium nitrate (v) Jams and Jellies

(vi) Bakery products

Select the correct option:

(1) (@-(v), (b)-Q). (c)-(1). (d)-(v1). (e)-(111)
2y (a)-(v), (b)-(1). (e)-(). (d)-(1). (e)-(1v)
(3)  (a)-(v1). (b)-(v). (e)-(). (D-(v). (e)-(11)
4  (a)-av). (b)-(n). (¢)-(2), (d)-(11). (e)-(v1)
Options:

61547535763 1

61547535770 2

61547535771, 3
E1547535772. 4

Question Number : 118 Question Id : 6154759172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (@-(v). (0)-(). (c)-(1). (d)-(vi). (e)-(111)
(2)  (a)-(v). (b)-(i). (c)-(1). (d)-(m). (&)-(v)
(3)  (@)-(n). (b)-(v). (0)-(). (d)-(v), (e)-(11)
4 (a)-av). (b)-(m), (c)-(2). (d)-(11). (e)-(v1)

Options:

615475357639 1

B1547535770. 2

E1547535771. 3
B1547535772. 4

Question Number : 119 Question Id ;: 6154759173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the fabrics given in List-I with their description in Last-II

List I
(Fabric)
(a) Corduroy (1)
(b) Mushn (11)
(¢) Outing Flannel (111)
(d) Voile (1v)

(v)

Choose the correct option from those given below :

(1) (a)-). (b)-(). (c)-(u), (d)-(v)
(2)  (a)-(). (b)-(v). (e)-(v). (d)-()
(3)  (a)-Gn). (b)-(2). (c)-(1). (d)-(v)
4 (@-(w). (b)-(11). ()-(v). (d)-(111)

Options:

615475357731

61547535774 2

61547535775 3
E1547535776. 4

Tast IT
(Fabric Description)

Fabric made from carded varns of
various thread counts upto 40s

Fabric made of plain or twill weave
and single varn finished with nap 1n
one or both sides

A cut, pile fabric with ribbed effect

Made of combed. medium to hard
twisted single varns

Fabrics made from combed smooth
varns

Question Number : 119 Question Id : 6154759173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(2) (a)-(11). (b)-(v). (c)-(iv). (d)-(1)
(3) (a)-(11). (b)-(2). (e)-(11). (d)-(1v)
(4) (a)-(iv). (b)-(11). (c)-(v). (d)-(i11)
Options:

B1547535773. 1
61547535774 2
61547535775 3
61547535776, 4

(1)
(11)

(111)

(1v)

(v)
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Match types of resources 1n List I with theiwr examples in Last II.

List I List IT
(Resources) (Examples)
(a) Personal resources (1)  Social ties, friendship
(b) Compeer resources (1) House. equipment
(c) Community resources (1) Solar energy. united nations
(dy Family resources (tv) Creativity, knowledge

(v) Banks, schools

Choose the correct option :

(1) (a)-(v). (b)-(). (c)-(v). (d)-(11)
(2)  (a)-(i). (b)-(iid), (c)-(v). (d)-@)
(3)  (a)-(1). (b)-(11). (c)-(iv). (d)-(1)
(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)

Options:

B1547535777. 1
61547535778 2
61547535779, 5
61547535780 4

Question Number : 120 Question Id ;: 6154759174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a)-(v). (b)-(). (c)-(v). (d)-(11)
(2) (a)-(). (b)-(1), (e)-(v). (d)-(2)
(3)  (a)-(i), (b)-@1). (e)-(@v). (d)-(1)
(4) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)

Options:

61547535777, 1

61547535778 2

B15475357759. 3
61547535780, 4

Question Number : 121 Question 1d : 6154759175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match building materials in List I with their description in List II.

List I List IT
(Building Materials) (Descrption)

(a) Bricks (1)  Fibrous material on the outer coat of
coconut

(b) Wood (1) Waste wood fibres compressed under
heat and moisture using adhesive

() Comr (m) Clay moulded. dried and baked in
kilns

(d) Particle Board (iv) Teak. Deodar. Mahogany. Oak

(v) Mixture of cement and concrete

Choose the correct option :

(1) (a)-(1). (b)-(11). (¢)-(11), (d)-(v)
(2) (a)-(111), (b)-Av). (c)-(1), (d)-(11)
(3)  (a)-(v). (b)-(1). (c)-(1). (d)-(1v)
@)  (a)-(). (b)-(n). (c)-(v). (d)-()

Options:

61547535751, 1

61547535782 2

61547535783, 3

61547535754 4

Question Number : 121 Question 1d : 6154759175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1). (b)-(11). (c)-(11). (d)-(v)
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(3) (a)-(v), (b)-(11). (c)-(1). (d)-(1v)
(4) (a)-(11). (b)-(11), (c)-(v). (d)-()

Options:

51547535781, 1
61547535782 2
61547535782, 3
E1547535784. 4

(1)
(11)

(111)

(iv)

(V)

gHI-1I
(Tera)

AEFF F A AT TH AR 99 JEE §

foedt =1 Aisw, @ T wfzea @ w9
z
_f.'-:F,'f:'. ﬂ*’];ﬂ{. II.,-!.ll :h, 3ﬁ$

= 317 2 =+ e

Question Number : 122 Question Id : 6154759176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the movements/organisations 1n List I with the key persons associated with them n
Last II.

List I List IT
(Movement/Orgamsation) (Person)
(a) SOS children's villages (1) Medha Patkar
(b) SEWA (1) Aruna Roy
(¢ RTI (111) Ela Bhatt
(d) Narmada Bachao Andolan (iv) Kailash Satyartha

(v) Herman Gmeiner

Choose the correct option :

(1)  (a)-(v). (b)-(1). (c)-(11). (d)-()
(2)  (a)-v). (b)-(v), (c)-(111). (d)-(11)
(3) (a)-(v), (b)-(111). (e)-(11). (d)-(1)

4)  (@)-(v), (b)-(w). (¢)-(11). (d)-(1)
Options:

E1547535785. 1

61547535786 2

61547535787, 2

61547535788, 4

Question Number : 122 Question 1d : 6154759176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 | o T SATEre/wsAt F g=-10 | 5 T 59 deg T SAieadl & =Y gatad S

-1 T=-11
(wTarer /= ) (=)
(a) TH 7 UH F=A T T () AT OTeE
() TwHETHYT i) T
(c) =3 o (i) 3 W2
(d) FHE ST SAEE (iv) e T

{v} = T B
HE fawer =

(1) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(2)  (a)-v). (b)-(v), (¢)-(1). (d)-(11)
(3) (a)-(v). (b)-(11). (c)-(11). (d)-(1)
(4) (a)-(v), (b)-(1v), (e)-(11). (d)-(2)
Options:

61547535785, 1

61547535786 2

B1547535787. 3
61547535788, 4

Question Number : 123 Question 1d : 6154759177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the terms in List I with their description in Last II.

(a)
(b)

(c)

(d)

Last
(Term)
Matriloeal
Patrileneal
Incest
Monotheism

Choose the correct option :

(1
(2)
(3)
(4

Options:

(a)-(1). (b)-(11). (e)-(1v). (d)-(v)
(a)-(11). (b)-(1). (¢)-(111), (d)-(v)
(a)-(11). (b)-(1). (e)-(111). (d)-(1v)
(a)-(11). (b)-(1). (e)-(1v). (d)-(v)

E1547535789. 1
61547535730, 2
E15475357391. 3
B15475357392. 4

(1)
(11)

(111)
(1v)

(v)

Last IT
(Description)
Tracing descent through male line

Family system in which the husband
lives near wife’s parents

Sexual activity between close family
members

A =ingle family dominates 1n a given
commumnity

Belief 1n a single God

Question Number : 123 Question Id : 6154759177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Ti-1 9 1223 7= ug = gei-11 4 29 7= 399 T & @y geie Hiaw

(a)
(b)

(c)

(d)

=11
(73)
B E
1 : ) 1:_-.
EEET
HHTHTS

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (c)-(v). (d)-(v)
(a)-(11). (b)-(1). (c)-(11), (d)-(v)
(a)-(11). (b)-(1). (c)-(111), (d)-(1v)
(a)-(ii1). (b)-(@). (¢)-(v). (d)-(v)

515475357859, 1
61547535730, 2
61547535731, 3
E15475357392. 4

11
REEl
(1)  T%9 FEell grT 99 H gal oA

(i) =% 9iEn =mEey f599 9fd, e & a@ma-

FAFAT

(iv) T3 T TEm W uE 9fEn w5 atEn

(v) TUF TTeR H fHvam

Question Number : 124 Question Id : 6154759178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the advocacy techniques given in List I with their primary purposes given in List II.

(a)

(b)
(c)

(d)

TLast I
(Advocacy Techniques)
Networking

Coalitions
Alliances

Lobbving

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a)-(1v). (b)-(111). (c)-(11), (d)-(v)
(a)-(v). (b)-(1). (c)-(111). (d)-(1v)
(a)-(1). (b)-(2). (c)-(12), (d)-(1v)
(a)-(11). (b)-(v), (e)-(1). (d)-(v)

E15475357593. 1
E15475357394. 2
615475357385 3
61547535736, 4

(1)

(1)
(111)

(1v)

(v)

Last II
(Primary Purposes)
Groups acting together for a specific
activity
Traiming the trainers

More permanent arrangements among
groups
Persuasion of stakeholders

Sharing of information

Question Number : 124 Question 1d : 6154759178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fi-1 8 31 T BHUS F vl w1 g=i-10 H 53 T 39 maie 32279 w9y gated it -

-1 -1
(99 = ATl qAE) (smafie 3297)
(a) Fzafwm () TEom = Fem % forw w@wEr o owa w5
(b) =IfeTeH (i) TRl T T
(c) TETEHA (ill) AT % UET ATIF FTUTE T
(d) AT (iv) FTIENH T Tea=

(v) H=AT =/ ATGH-T5H
wE fawes 74

(1)  (a)-Gv). (b)-(11), (c)-(11), (d)-(v)
(2) (a)-(v), (b)-(1). (c)-(111), (d)-(1v)
(3)  (a)-(i1). (b)-(2). (c)-(11). (d)-(v)
(4) (a)-(1). (b)-(w). (c)-(1). (d)-(1v)
Options:

1547535792 1

1547525794 2

615475357385 3
61547535736, 4

Question Number : 125 Question 1d : 6154759179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the research design given in the List I with their examples given in List IL.

Last I
(Research design)

(a) Experimental Research Design
(b) Longitudinal Research Design
(¢) Cross Sectional Research Design

(d) Retrospective Research Design

Choose the correct optlon :

(1)  (a)-(v). d)-av). (e)-(i). (d)-3)
(2)  (a)-(v). (b)-(v), (c)-(id). (d)-(11)
(3) (a)-(iv). (b)-(v). (c)-(11). (d)-(112)
(4) (a)-(v). (b)-(1). (c)-(111), (d)-(11)

Options:

61547535797, 1

61547535798, 2

615475357939, 3

£1547535300. 4

(1)
(1)
(iii)
(1v)

(v)

Last IT
(Examples)

Researcher collects data referring to
past events

Researcher collects data forwards 1n
time

Researcher observes individuals only
once

Researcher investigates changes over a
period of time

Researcher  deliberately  influences
events and investigates the effect of
intervention

Question Number : 125 Question 1d : 6154759179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



gi-1 4 fau e sy fe=mE =i g=i-11 9 150 70 39 Sem + 919 qoferd i ;

FH=1-1 T=1-IT
RUCREEECY (F=ET)
(a) TEFTCR WY 1S9 (1) oAl e g F Terhd G 5T AT
U A B
(b) HI2ed =y feare (i) TTEEAl STRS] R BRESH g99 h fem U
(¢ FTEy g feam (1) waFAl =afFaE # FEe UF aE A O
7 2|
(d) 3Taelt wg fsameA (iv) TITEhal FHATRIAT T Oadql 6 Fre T 7
(v) Saehdl AE-H9E H G2 1 THIEd
7 AUT FEATET oUW 1 G Hea 2
(1) (a)-(v), (b)-(v), (c)-(ii1), (d)-(1)
(2) (a)-(v). (b)-(v), (c)-(111). (d)-(11)
(3)  (@-w). b)-(v). (e)-(i1). (d)-(11)
4  (@-), (b)-Q). (c)-(m1), (d)-(11)
Options:

BE1547535797. 1
615475357388, 2
615475357395, 3
61547535800, 4

Question Number : 126 Question Id : 6154759180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of progression in eve changes during vitamin A deficiency in the correct
sequence :

(a) Photophobia

(b) Keratomalacia

(c) Nightblindness

(d) Bitot's spots

{(e) Xeropthalmia

Select the correct option :

(1) (a). (d). (), (e). (b)
(2) (). (a). (e). (c). (b)
(3) (o), (d). (b, (e). ()
(4) (o). (d). (a). (e). (b)

Options:

61547535801, 1
61547535802 2
E1547535802. 2
61547535804, 4

Question Number : 126 Question Id : 6154759180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



faefim A =t =41 = RE s 0 2F 9t 9itEdq & 9 w6 AEE | sate fifs
(a) IS

(b)  FEmETTE

(c) Tardl

(d)  =TEeied e
(e) BN EIEE

oFl Tawe =1 =97 it

(1) (2. (d). (0. (e). (b)
(2)  (d). (a). (e). (c). (b)
(3) (2. (d). (b). (e). (a)
(4) (e (d). (a). (e). (b)

Options:

61547535801, 1
61547535802, 2
61547535803 2
E1547535804. 4

Question Number : 127 Question Id : 6154759181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps to set the needle in sewing machine in the correct sequence :

(a) Hold needle in the left hand

ih) Loosen thumb serew on needle bar

(c) Tighten clamp

(d) Insert needle through needle clamp

(e) Raise needle bar to highest by turning fly wheel

(D) Keep flat side of needle towards groove

Choose the correct option :

(1) (@) (©). (d). (e). (D. (b)
(2)  (e). (b). (a). (. (d). (c)
(3)  (d). (@. (e). (). (). ()

(4) (D). (d). (), (e). (a). (b)
Options:

51547535805, 1
61547535806, 2
61547535807, 2
61547535808 4

Question Number : 127 Question Id : 6154759181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



foems i1 7efi| | 92 it G2 T F =00 T GE FH ° sy i
(a)  &TE =9 § TS N TS

(b) A== @ 9 U U= I S

(c) o= =l Zi5e WL

(d) == 7= I g w T

(€) TS TAIeA 1 GHTH S AN I Todanea W o W0

(1) (a). (e). (d). (e). (. (b)
(2) (e). (b). (a). (B. (d). (c)
(3) (d). (®). (e). (b). (c). (a)
(4) (D). (d). (). (e). (a). (b)

Options:

61547535805, 1
E1547535806. 2
61547535807, 5
61547535808, 4

Question Number : 128 Question Id : 6154759182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of cocoon processing for silk varn production in the correct sequence :

(a) Spinning

(b) Degumming
(c) Throwing
(d) Weighting
(e) Sorting

(f) Reeling

Choose the correct option :

(1) (@) ®). (). (d.(e). ®
(2) (c). (e). (D). (b). (a). (d)
(3)  (e). (D). (c). (a). (b). (d)
4) (D, (e (d), (), (b). (a)

Options:

1547535809, 1
E15475325810. 2
61547535811, 5
61547535812 4

Question Number : 128 Question Id : 6154759182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



UM % U1 % I09ET & 0 FET (FEA) F TEEH % w01 gE F6 ° smatead Fife
(a)  Fak
(b)  TE P (ST
(c) T

(d)  wwo (IR

N e

(e) D2 T (Fifdm)

o

() T == (o)

el faHeT 1 F97 i,

D (@. M) (e). (. (e). O
2 (). (e). (. (). (). (d)
(3)  (e). B, (c). (a), (b). (d)
4)  (®. (e).(d). (). (). (a)

Options:

61547535809,
61547535810,
61547535811,
£1547535812.

[ N

Question Number : 129 Question Id : 6154759183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps involved in preparation of a time plan in correct sequence :

(a)
(b)

(d)

(e)

Estimate time requirement for each activity
List all flexible and inflexible activities
Determine time sequence

Finalize the time schedule

Balance total estimated time with time available

Choose the correct option :

(1) (a). (b). (d). (e). (c)
(2) (D). (a). (e). (c). (d)
(3) (d). (a). (b). (c). (e)
(4)  (a). (). (b). (e). (d)
Options:
615475358131
61547535814, 2
£1547535815. 2
1547535816 4

Question Number : 129 Question Id : 6154759183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HHA ATSAT T | IH =000 A HE FE g Saied fif -

(b) i SH=E AUT FETEET At H g A
(¢)  =mF F 1 fAaner wa
(d)  THF HSgS H AGH T

(e) IR THE FI Bl FATANT T F TTH FAAC FAT

(1) (a). (b). (d). (e). (c)
(2) (b). (a). (e). (c). (d)
(3)  (d). (a). (). (©). (e)
(4)  (a). (). (b). (e). (d)

Options:

£1547535813. 1
E1547535814. 2
61547535815,
61547535816 4

Question Number : 130 Question Id ;: 6154759184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following steps of design process in correct sequential order :

(a) Design development

(b) Schematic design

(c) Programming

(d) Construction administration

(e) Construction documentation

Choose the correct option :

(1) (d). (a). (b). (e). (c)
(2) (a). (b). (c). (d). (e)
(3) (c). (d). (a). (e). (b)

(4) (c). (b). (a). (e). (d)
Options:

£15475355817. 1
E1547535818. 2
BE1547535819 3
61547535820 4

Question Number : 130 Question Id : 6154759184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



TSAET Wi & FeAfeiad =2 &1 A ATHS F9 0 =Eegq Hi
(a) e fawmm
(b)  =IFAEZ TZaEA

(c) TR

(d) e e (Feee Tehte)

(e) T et (FigaH SEgHvA)
e fames &1 =999 Fhifae

(1) (d). (a). (b). (e). (c)
(2) (a). (b). (c). (d). (e)
(3) (e). (d). (a). (e). (b)

(4) (c). (b). (). (e). (d)
Options:
615475358171
61547535818 2
615475358149 2
61547535820, 4

Question Number : 131 Question Id : 6154759185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange 1n correct sequence the attainment of cognitive milestones in children :

(a) Make belief play
(b) Object permanence
(c) Conservation of length

(d) Propositional thought

Choose the correct option:

1y (o). (e). (a). (d)
(2) (a). (b). (¢). (d)
(3) (b). (a). (c). (d)

4  (d). (b). (c). (a)
Options:
615475358211
61547535822 2
61547535823 3
61547535824 4

Question Number : 131 Question Id : 6154759185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



sr=al A FAFTHE TS I Uied = Hel % § sFaied i

(a) FATeaF T
(b) T T

(c)  TEATE T

(d)  =aF fEEn

— o
Tl TaHed = F99 FHIA0,

(1) (b). (c). (a). (d)
(2) (@) (b). (e). (d)
(3) (b (a). (). (d)

(4) (d). (b). (c). (a)
Options:
15475358211
E1547535822. 2
61547535822, 5
61547535824, 4

Question Number : 132 Question Id : 6154759186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange 1n correct sequence stages of Adult Psychosocial Development as given by Vaillant :

(a) Career consohidation
(b) Intimacy

(c) Ego integrity

(d) Keepers of meamng

(e) Generativity

Choose the correct option :

(1) (b). (a). (e). (d). (c)
(2) (b). (e). (a). (d). (c)
(3) (b). (d). (e). (a). (c)

(4)  (a). (b). (e). (0). ()
Options:

61547535825, 1
61547535826 2
61547535827, 2
61547535828 4

Question Number : 132 Question Id : 6154759186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hefe T A0 ARSI -FET T [5oE % =00 o @E HH ° St i -

(a) i THFA
(b)  TE=A
() ¥ FEgum

(d) 319 gEw T T

(e) T ISl

el TaeT = =99 i

(1) (b). (a). (e). (d). (¢)
(Z) (b). (e). (a). (d). (c)
(3) (b). (d). (e). (a). (c)

(4)  (a). (b). (e). (c). (d)
Options:

615475355251
61547535826, 2
61547535827, o
61547535828, 4

Question Number : 133 Question Id ;: 6154759187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the steps for executing a training programme 1n the correct sequential order :

(a) Making participants play Ice-breaking games
(b) Using energizers with the participants

(c) Malang participants introduce themselves

(d) Asking participants to register for training

(e) Eliciting feedback from the participants

Choose the correct option :

(1) (a). (b). (c). (d). (e)
(2) (b). (e). (a). (d). (e)
(3) (c). (b). (a). (d). (e)

4 (d). (@). (0). (b). (e)
Options:

£15475355829 1
E1547525830. 2
E154¥5358531. 3
61547535832 4

Question Number : 133 Question Id : 6154759187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ufreTor e #F fodET % =Ren # wEl AgEE | sgate =it

(a)  TiaurE w 2R 99 =@ fEem

(b)  wfawTiEl 1 AiFaads =@ fEam

(¢)  UTAHTIET 1 =9 H Uiti=

(d) TSI S WEE U e e e e
(e)  HEWIiEl T [HawA TTed =T

(1) (a). (b). (c). (d). (e)
(2) (b). (e). (a). (d). (e)

(3) (c). (b). (a). (d). (e)

(4)  (d). (a). (c). (b). (e)
Options:
£15475355829 1
E1547525830. 2
E15475358531. 3
61547535832 4

Question Number : 134 Question Id ;: 6154759188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the steps involved 1n the process of listening in correct sequence :

(a) Understanding
(b) Remembering
(c) Responding

(d) Evaluating

(e) Hearing

Choose the correct option :

(1) (a), (b). (c). (e). (d)
(2) (b). (a). (c). (d). (e)
(3) (d). (c). (b). (a). (e)

(4)  (e). (a). (b). (d). (c)
Options:

15475358331
E1547535834 2
61547535825, 5
61547535836 4

Question Number : 134 Question Id : 6154759188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T =l AT § 9 ST ] WE H H et il -

(a) EEEET

(b) EICRLEE]

(c) afdfsar 2
(d)  FeaTEA T

(e) AT

el T9e =1 =99 F00

(1) (a). (b). (c). (e). (d)
(2)  (b). (@. (¢). (d). (e)
(3)  (d). (c). (b). (a). (e)
(4)  (e). (a). (b). (d). (c)

Options:

61547535833, 1
615475358324 2
E1547535835 2
61547535826, 4

Question Number : 135 Question Id : 6154759189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of systematically planned research in the correct sequence :

(a) Sampling design and size. tools for data collection

(b) Data analysis and applying statistical tests of significance
(c) Rationale and background for study

(d) Objectives, research hypothesis and statistical hypothesis

(e) Interpretation and Inference

Select the correct option :

(1) (d). (c). (a). (b). (e)
(2) (). (d). (a). (b). (e)
(3) (). (d). (b). (a). (e)

(4)  (a). (). (d). (b). (e)
Options:

61547535837, 1
615475358358, 2
61547535839, 3
61547535840, 4

Question Number : 135 Question 1d : 6154759189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



goatead =Y @ fEted Y % =on w0 WA wE J sqaEtedd it

(a)  HEIrAT, TSATSA, 997 519, FHE U HA F HEA

(c) AT %+ JETaN Ud Yy

(d) 3299, Y THFHETH1, A9T OEahE EaEy

(e) e Ay ey

Hal e 1 I39 HITAT -

(1) (d). (c). (a). (b). (e)
(2) (c). (d). (a). (b). (e)

(3) (c). (d). (b). (a). (e)

(4) (a). (c). (d). (b). (e)
Options:
61547525837, 1
61547535838, 2
61547535839, 3
61547535840, 4

Question Number : 136 Question Id : 6154759190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements. one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : To get good puffed up and soft chappaties one must reknead the dough

after leaving the dough for about half an hour.

Reason (R) : Rekneading the dough helps in gluten development which has stretch

properties and help in puffing up.

In the light of the above two statements choose the correct option :

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are correct
Both (A) and (R) are incorrect
(A) 18 correct. but (R) 1s incorrect

(A) 18 1ncorrect, but (R) 1s correct

51547535841, 1
61547535842 2
61547535843, 3
61547535844, 4

Question Number : 136 Question Id : 6154759190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475358411

61547535842 2

61547535843 3

61547535844 4

Question Number : 137 Question Id : 6154759191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one 1s labelled as Assestion (A) and the other 1s labelled as

Reason (R) :
Assertion (A) :  Steaming 1s useful in fimshing fabrics.
Reasons (R) : It 1s useful as it helps pushing pile of fuzz erect and giving fabric its

original appearance.

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are correct

(2) Both (A) and (R) are incorrect

(3) (A) 12 correct. but (R) 1= incorrect
(4) (A) 13 1ncorrect, but (R) 1s correct
Options:

51547535845, 1
61547535846, 2
61547535847, 3
615475358458, 4

Question Number : 137 Question Id : 6154759191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535845, 1
61547535846, 2
61547535847, 2
61547535848 4

Question Number : 138 Question 1d : 6154759192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements - one 1s labelled as Assertion (A) and the other as

BReason (R) :
Assertion (A): Leg muscles should be used for hifting loads off the ground instead of back
muscles.

Reason (R) : Back muscles are weaker then leg muscles.
In the light of above two statements, choose the correct option :

(1) Both (A) and (R) are correct
(2) (A) 18 correct, but (R) 12 incorrect
(3) (A) 18 1ncorrect, but (R) 1s correct

(4) Both (A) and (R) are incorrect



Options:

61547535849, 1
61547535850 2
E1547535851. 2
61547535852, 4

Question Number : 138 Question Id : 6154759192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547535849 1
61547535850, 2
61547535851 =
61547535852 4

Question Number : 139 Question Id : 6154759193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one 1s labelled Assertion (A) and other 1s labelled as

Reaszon (R) :

Assertion (A):  The average age of parents who register for adoption 1= above 40 years in
India.

Reason (R) : Urban couples are not wanting to have children at a younger age and

therefore. are opting for adoption.

In the hight of the two statements. choose the correct option :

(1) Both (A) and (R) are correct

(2) Both (A) and (R) are incorrect

(3) (A) 13 correct and (R) 1s incorrect
(4) (A) 1s 1ncorrect and (R) 1s correct
Options:

£1547535853. 1
61547535854, 2
E1547535855. 3
51547535856, 4

Question Number : 139 Question Id ;: 6154759193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E1547535853. 1
61547535854, 2
51547535855, 3
E1547535856. 4

Question Number : 140 Question Id : 6154759194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements - one 1s labelled Assertion (A) and the other 1s labelled the

reason (R) :

Assertion (A) : Popular cinema cannot influence the notions and meanings of masculine
and feminine

Reason (R) : Gendering 1s a continuous process and socialisation agents play a role in

influencing notions of masculine and feminine.
In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are cm‘rlect and (R) 1s not the correct explanation of (A)
(3) (A) 1s correct, but (R) 1s incorrect

(4) (A) 1s incorrect, but (R) 1s correct

Options:

61547535857, 1
61547535858 2
61547535859 2
61547535860 4

Question Number : 140 Question Id : 6154759194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547535857, 1
61547535858 2
61547535859 2
E1547535860. 4

Sub-Section Number: 2
Sub-Section I1d: 615475397
Question Shuffling Allowed : Yes

Question Id : 6154759195 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cestion Label | Comprehiension



Read the passage 1 given below and answer the questions that follow.

Passage 1

According to the 2018 Global Nutrition Report released in November 2018, India holds
almost a third of the world's burden for stunting which shows that India 1s facing a major
malnutrition erisis. Talking about the children who are stunted. India tops the hst
(45.6 million) followed by Nigeria (13.9 mullion) and Pakistan (10.7 million). The National
family Health Survey 4 (NFHS4) also pointed out that India has a very high burden of
micronutrient deficiencies caused by Vitamin A, Iodine, Iron and Folic acid leading to Night
Blindness. goitre, Anaemia and various birth defects. The survey further observed that
58.4% of children under 5 in India are anaemic, 53.1% of women In the reproductive age
group are anaemic and 35.7% of children under 5 are under weight. India has a high
prevalence of childhood stunting and maternal and childhood anaemia. These can have long
term effects on cognition and overall productivity. There 1s evidence that malnutrition can
result in potential Gross Domestic Product (GDP) losses of 2 — 3% and a more than 10%
potential reduction in life time earnings for each malnourished individual.

Sub questions

Question Number : 141 Question Id ;: 6154759196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to 2018 Global Nutrition Report. India 1s having a third of world's burden of

(1) Night Blindness (2) Stunting
(3) Anaemia (4) Goitre
Options:

61547535861, 1
61547535862, 2
E1547535863. 3
E1547535864. 4

Question Number : 142 Question Id : 6154759197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to NFHS4 data —————% of chidren under 5 are anaemic.
1) 53.1% (2) 58.4%

(3) 35.7% (4) 10.0%

Options:

51547535865, 1
51547535866, 2
61547535867, 3
61547535868, 4



Question Number : 143 Question Id : 6154759198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Global Nutrition Report 2018, which country 1s ranked second in having
stunted children?

(1) Nigeria (2) Pakistan
(3) Bhutan (4) India
Options:

61547535869, 1
E1547535870. 2
B1547535871. 3
B1547535872. 4

Question Number : 144 Question 1d : 6154759199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

India has a high burden of following micronutrent deficiency disorders :
(a) goltre

(b) night blindness

(c) underweight

(d) anaemia

(e) cognition

Choose the correct option :

(1) (a). (b) and (c) (2) (a). (b)and (d)
(3) (b). (c) and (d) (4) (c). (d) and (e)
Options:

BE1547535873. 1
61547535874, 2
61547535875, 3
61547535876, 4

Question Number : 145 Question Id : 6154759200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



India has high prevalence of deficiency of the following micronutrients :

(a) Vitamin A

(b) Protein
(c) Calcium
(d) Iron

(e) Vitamin D

Choose the correct option :

(1) (a) and (b) (2) (a)and (d)
(3) (c) and (d) (4) (b) and (e)
Options:

61547535877, 1
61547535878, 2
61547535879, 3
E1547535880. 4

Question Id : 6154759195 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehension
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Sub questions

Question Number : 141 Question Id : 6154759196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547535861, 1
61547535862, 2
E1547535863. 3
E1547535864. 4

Question Number : 142 Question Id : 6154759197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E1547535866. 2
B1547535867. 3
51547535868, 4

Question Number : 143 Question 1d : 6154759198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547535869, 1
E1547535870. 2
E1547535871. 3
B1547535872. 4

Question Number : 144 Question Id ;: 6154759199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547535873. 1
E1547535874. 2
61547535875, 3
61547535876, 4



Question Number : 145 Question Id : 6154759200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a) 741 (b) (2) (a)@9 (d)
(3) (c) a4 (d) (4) (b) 34 (e)
Options:

E1547535877. 1
E1547535878. 2
E1547535879. 3
51547535880, 4

Sub-Section Number: 3
Sub-Section Id: 615475398
Question Shuffling Allowed : Yes

Question Id : 6154759201 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



ERead the passage 2 given below and answer the guestions that follow.

Passage 2 :

Gender Based Violence (GBV) 1s a global health, human rghts and development 1ssue that
transcends geography. class, culture. age. race and religion to affect every community and
country 1n every corner of the world. The article 1 of UN Declaration on the Elimination of
violence 1993 provides a defimition of gender-based abuse. calling it ‘any act of gender-based
violence that results in, or is hikely to result in. physical. Sexual or psvchological harm or
suffering to women, including threats of such acts, coercion or arbitrary deprivation of
hiberty. whether occuring in public or in private life’. In India, gender based violence, has
many manifestations: from the more universally prevalent forms of domestic and sexual
violence including rape. to harmful practices such as dowry. honour killings. acid attacks.
child sexual abuse. etc. Other than these, India 1s also grappling with wviclence due to
inequalities in social life, displacement and communal incidents. Mimstry of Finance, GOL.
has established ‘Nirbhaya Fund' for women safety. The working group on women's Agency
and Empowerment had recommended setting up of one stop erisis centres, on pilot basis
with a 24 hour help line. The scheme for one stop centre was approved for implementation. It
aims to facilitate access to an integrated range of services including medical aid. police
assistance, legal aid. psychological counselling to women affected by viclence. Under the
scheme, 1t has been envisaged that one stop centres would be set up across the country in
phased manner. In the first phase. one centre was sanctioned per State/UT. Further. 150
additional centres were taken up 1n second phase during 2016-17. Thus a total of 186 OSC’s
have been sanctioned so far and 166 of the same are operational as on 12.12.2017.

Sub questions

Question Number : 146 Question Id : 6154759202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Nirbhaya Fund has been established by which agency?
(1) Women and Child Development. HRD Ministry
(2) Finance Ministry. Government of India
(3) Working Group on Women's Agency and Empowerment
(4) United Nations

Options:

1547535881, 1
61547535882, 2
61547535883 2
61547535854, 4

Question Number : 147 Question 1d : 6154759203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the first phase how many “One Stop Centres” were sanctioned 1n the country?

(1) 150 (2) 186
(3) 1 centre per state/UT (4) 166
Options:

61547535885, 1
61547535886, 2



E1547535887. 3
51547535888, 4

Question Number : 148 Question Id ;: 6154759204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Article 1 of UN declaration on Elimination of Violence 1993 defimition.
15 not considered as gender abuse.

(1) Phys=ical harm to women (2) Domestic violence
(3 Sexual harm to women (4) Deprivation of liberty
Options:

61547535889, 1
61547535830, 2
E15475358591. 3
E15475358392. 4

Question Number : 149 Question Id : 6154759205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Following are considered the manifestations of Gender based violence 1in India :

(a) Domestic violence

(b) Violence due to communal incidents
(c) Violence due to displacement

(d) Sexual violence

Choose the correct option :

(1) (a) and (b) (2) (a)and (d)
(3) (b) and (d) (4) (c) and (d)
Options:

515475358593, 1
61547535894, 2
£1547535835. 3
E1547535856. 4

Question Number : 150 Question Id : 6154759206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘One Stop Centre’ scheme has the following components :

(a) Medical aid
(b) Legal aid
(c) Financial aid

(d) Psychological counselling

Choose the correct option :

(1) (a). (b) and (c) (2) (a). (b) and (d)
(3) (b). (c) and (d) (4) (a). (c) and (d)
Options:

E15475358397. 1
615475358358, 2
E154753589%9. 3
51547535900, 4

Question Id : 6154759201 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label | Comprehension
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Sub questions

Question Number : 146 Question Id : 6154759202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475355511
61547535882, 2
61547535882, o
615475358584, 4

Question Number : 147 Question Id ;: 6154759203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=9 4 Teel =00 ° Thad o9 T2 Hegt W ATHIGA R T an?

(1) 150 (2) 186
(3) uHT=/gA, § 1 T (4) 166
Options:

51547535885, 1
61547535886, 2
61547535887, 3
E1547535888. 4

Question Number : 148 Question Id : 6154759204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535889, 1
61547535830, 2
E15475358391. 3
E1547535892. 4

Question Number : 149 Question Id : 6154759205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a) 3T (b) (2) (a) # i (d)
(3)  (b) HT (d) (4) (c) #FF (d)
Options:

515475358593, 1
61547535854, 2
£1547535835. 3
61547535836, 4

Question Number : 150 Question Id : 6154759206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3)  (b). (¢) # (d) 4) (), (¢) =W (d)
Options:

B1547535897. 1
615475358388, 2
61547535899, 3
61547535300, 4



